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Supplementary Model 2

We begin here by defining a set of parameter values for use throughout this study. This is as follows:
e [ =1 (full lethal penetrance),
e ¢4 = 0.85 (relative to 1 in wild-type individuals - 15% fitness cost),
e =5 = 0.85 (relative to 1 in wild-type individuals - 15% fitness cost),
e cp =1 (resistant alleles give no fitness cost),
e C'=0.9 (90% of eligible wild-type sequences are cleaved),
e & =0.9C (90% of cleaved sequences are repaired via homing of transgenic constructs),

17 =0.1C (10% of cleaved sequences are repaired via end-joining producing resistant alleles).

The relative fitness parameters defined above are combined multiplicatively to obtain a single overall
relative fitness value for each genotype (assumed equal for both sexes). These are of the form:

Qbaal, Qpaa = (1 —L)ea, Qpra =er, Qpas = (1—L)e%, Qpar = (1—L)eacr, Qprr =%,

2 2
QBbaa =€B, 2Bvaa = €BEA, $1BbRa = EBER, 0BvaA =cpel, SIBvAR = €BEAER, SIBLRR = €BER,
2 2 2 2 2 2 2 2
QBBaa =€B, BBAe =€BEA, S)BBRa = €BER, 2BBAA =€BEL, S2BBAR = €BEAER, S)BBRR = €BER-

We then define a set of initial conditions representing the genotype proportions in the population at the
point of introducing transgenics into the wild population. For a 1:1 (introduced:wild) release of individuals
homozygous for both transgenic constructs, as is most widely considered in this study these are of the
form:

Mppaa(1) = 0.25 = Fypaa(1l), Mppaa(1) = 0.00 = Fypaa(1), Mipra(l) = 0.00 = Fyyra(l),

(1),

Mipaa(1) = 0.00 = Fppaa(l), Mpar(l)=0.00= Fpar(l), Myprr(1)=0.00= Fyrr(l),
MBpaa(1) = 0.00 = Fppaa(l), Mppaa(l) =0.00 = Fppaa(l), Mppra(l) =0.00 = Fppra(l),
Mppaa(l) =0.00 = Fppaa(l), Mppar(l) =0.00 = Fpyar(l), Mpyrr(1) =0.00 = Fpyrr(l),
MBBaa(1) = 0.00 = Fppaa(l), Mppaa(l) =0.00 = Fgpaa(l), Mppra(l) =0.00 = Fppra(l),
Mppaa(1) =0.25 = Fppaa(l), Mppar(l) =0.00= Fppar(l), Mpprr(1) =0.00 = Fpprr(1).

With the above definitions we are then able to iteratively calculate the genotype frequencies in each
subsequent generation. This process is conducted in a two step manner. The first stage is to calculate the
proportional frequencies for each genotype (and for each sex), which is achieved using:

beaa

Mipoo = ( ) (Mypaa (i — 1) Fypaa(i — 1) + 0.5Mppaa (i — 1) Fypaa(i — 1) + 0.5Mppaa(i — 1) Fyppa(i — 1)
+0.5Mppaa (i — 1) FBbaa(i — 1) + 0.25Mppaa (i — 1)(1 — ® — 1) Fppaa(i — 1) + 0.25Mppaa (i — 1) Fpra(i — 1)
=+ O-5MbbAa(i — I)beaa(i — 1) + 0-25MbbAa(i — I)beAa(i — 1) + 0~25MbbAa(i — 1>beRa(i — 1)



e
MbbAa

+0.25Mppaa(i — 1) Fppaa(i — 1) + 0.125Mppaa (i — 1)(1 — @ — 1) Fppaa(i — 1)

+0.125Mypaa(i — 1) Frpral(i — 1) + 0.5Mypra(i — 1) Fypaa (i — 1) + 0.25Myppa(i — 1) Fypaa(i — 1)
F0.25Mppra(i — 1) Fopra(i — 1) + 0.25Mypra (i — 1) Frpaa(i — 1) + 0.125Mypra(i — 1)(1 — ® — 1) Fppaa(i — 1)
+0.125Mppra(i — 1) Fbra(i — 1) + 0.5Mppaa(i — 1) Fypaa (i — 1) + 0.25Mppaa(i — 1) Fypaa(i — 1)
+0.25MBpaa(i — 1) Fopra(i — 1) + 0.25Mppaa(i — 1) Fppaa(i — 1) + 0.125Mppaa(i — 1)(1 — @ — ) Fppaa(i — 1)
+0.125MBpaa(i — 1) Feyra(i — 1) +0.25(1 — ® — ) Mppaa(i — 1) Fypaa(i — 1)

+0.125(1 = @ — ) Mppaa(i — 1) Fppaa(i — 1) +0.125(1 — @ — n) Mppaa(i — 1) Fopra(i — 1)

£0.125(1 — ® — ) Mppaali — 1) Frpaali — 1) + 0.0625(1 — ® — 1) Mppaa(i — 1)(1 — ® — 1) Fpaali — 1)
+0.0625(1 — ® — n)Mppaa(i — 1)Fyra(i — 1) + 0.25Mpyra(i — 1) Fypaa(i — 1)

£ 0.125Mpora(i — 1) Fopaa(i — 1) +0.125Mppra(i — 1) Fopra(i — 1) + 0.125Mppra(i — 1) Fipea(i — 1)
+0.0625M pyga(i — 1)(1 — ® — ) Frpaa(i — 1) + 0.0625M pyra (i — 1) Frprali — 1],

Qb aa ‘ , , , . ‘
N ( b;A ) [()'E)A]\Jbbaa(Z - ]-)-beAa(Z - 1) + Mbbaa(l - ]‘)beAA(Z - ]') + 0'5Mbbaa(z - 1)beAR(Z N 1)

+0.25Mppaa(i — 1)(1 = — 1) Fpaa(i — 1) + 0.5Mppaa (i — 1)@ Fppaa(i — 1) + 0.25Mppaa (i — 1)1 Fppaa(i — 1)
0.5 Mppaa (i — 1) Fppan(i — 1) +0.25Mypaa (i — 1) Fppar(i — 1) + 0.5Mypaa(i — 1) Fypaali — 1)

£ 0.5Mypaali — 1) Fypaa(i — 1) +0.25Mppaa(i — 1) Foprali — 1) + 0.5Mypaa(i — 1) Fopan(i — 1)

+0.25Mppaa(i — 1) Fypar(i — 1) + 0.25Myp a0 (i — 1) Frpaa(i — 1) + 0.25Myp a0 (i — 1)(1 — & — ) Frpaali — 1)
F0.25Mypaa(i — 1) Fppaa(i — 1)+ 0.125Mppan(i — 1)7Fspaa(i — 1) + 0.125Mypaa(i — 1) Frprali — 1)
F0.25Mypaa(i — 1) Fppan(i — 1)+ 0.125Mppaa(i — 1) Frpar(i — 1) + 0.25Mppra(i — 1) Fopaa(i — 1)
+0.5Mppra(i — 1) Fypaa(i — 1) +0.25Mypra(i — 1) Fypar(i — 1) + 0.125Myppa (i — 1)(1 — @ — 1) Fppaa(i — 1)
£ 0.25Myppa(i — 1)®Frpaa(i — 1) + 0.125Myppa(i — 1)nFppaali — 1) + 0.25Myppa(i — 1) Fppaa(i — 1)
+0.125Myppa(i — 1) Frpan(i — 1) + Mypan(i — 1) Fypaa(i — 1) + 0.5Mypaa(i — 1) Fopaa(i — 1)

F0.5Mypan(i — 1) Foprali — 1) + 0.5Mppan(i — 1) Frpaa(i — 1) + 0.25Mypan(i — 1)(1 — ® — ) Frpaa(i — 1)

£ 0.25Mypanli — 1) Fpprali — 1) + 0.5Mypar(i — 1) Fopaa(i — 1) + 0.25Mypar (i — 1) Fypaali — 1)
+0.25Mypar(i — 1) Fyora(i — 1) + 0.25Mypar(i — 1) Frpaa(i — 1) +0.125Mypap(i — 1)(1 — ® — 1) Fppaa(i — 1)
F0.125Mypar(i — 1) Fpprali — 1) + 0.25Mppea(i — 1) Fupaa(i — 1) +0.5Mppaa(i — 1) Fypaa(i — 1)
+0.25MpBpaa(i — 1) Fopar(i — 1) + 0.125Mppaa (i — 1)(1 — @ — n) Fpaa(i — 1)

+0.25Mppaa(i — 1)®Fppaa(i — 1) + 0.125Mppaq (i — 1)nFppaa(i — 1) + 0.25Mppaa (i — 1) Fppaa(i — 1)
+0.125Mpoaali — 1) Fppar(i — 1) + 0.25(1 — & — ) Mppaa(i — 1) Fypaa(i — 1) + 0.50Mppaa(i — 1) Fypaali — 1)
0250 Mppaa(i — 1) Fypaa(i — 1) +0.25(1 — & — ) Mppaa(i — 1) Fypaa(i — 1) + 0.250 Mppaa(i — 1) Fopaa(i — 1)
01250 Mppaa(i — 1) Fopaa(i — 1) +0.125(1 — @ — ) Mppaa(i — 1) Fypra(i — 1)

£ 0.250Mppaa(i — 1) Fopra(i — 1) + 0.1250Mppaa(i — 1) Fypra(i — 1)

+0.25(1 — ® — ) Mppaali — 1) Fopan(i — 1) +0.125(1 — ® — ) Mppaa(i — 1) Fopar(i — 1)

+0.125(1 = @ — 1) MBpaa(i — 1) Fppaa(i — 1) + 0.25@ Mppaa (i — 1) Fppaa(i — 1)

+0.125nMpyaa(i — 1)Fppaa(i — 1) +0.125(1 — @ — ) Mppaa(i — 1)(1 — @ — 1) Fppaa(i — 1)

+0.1250 Mppaa(i — 1)(1 — @ —n) Fppaa(i — 1) +0.06250 M ppaa(i — 1)(1 — @ — 1) Fppaa(i — 1)

+0.125(1 = @ — ) Mppaa(i — 1)@ Fppaa(i — 1) +0.0625(1 — & — n)Mppaa(i — 1)nFppaa(i — 1)

+0.0625(1 — ® — ) Mpyaa(i — 1) Fppra(i — 1) + 0.1250 Mpyaa(i — 1) Fppra(i — 1)

+0.06250 Mppaa(i — 1) Frpra(i — 1) +0.125(1 — & — ) Mppaa(i — 1) Fppaa(i — 1)

0.0625(1 — ® — 1) Mpyaa(i — 1) Frpar(i — 1) +0.125(1 — & — ) Mppaa(i — )PFppaali — 1)

0.0625(1 — @ — ) Mppaa(i — ViFppaali — 1) +0.125Mppra(i — 1) Fypaa(i — 1)

+0.25Mpyra(i — 1) Fypaa(i — 1) + 0.125Mpyga(i — 1) Fypar(i — 1)

+0.0625Mppra(i — 1)(1 — & — ) Fppaali — 1) + 0.125Mpyga(i — 1)®Fppaa(i — 1)

+0.0625Mppra(i — D)0 Fppaa(i — 1)+ 0.125Mpyga(i — 1) Frpan(i — 1) + 0.0625Mppra(i — 1) Fppan(i — 1)
F0.5Mpoan(i — 1) Fopaa(i — 1) + 0.25Mppan(i — 1) Fppaa(i — 1) +0.25Mpyan(i — 1) Fypra(i — 1)

£ 0.25Mppan(i — 1) Fnpaali — 1) +0.125Mppan(i — 1)(1 — ® — ) Fyaa(i — 1)

+0.125Mppan(i — 1) Fpoga(i — 1) + 0.25Mppar(i — 1) Fopaa(i — 1) + 0.125Mppar (i — 1) Fypaa(i — 1)
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+0.125Mppar(i — 1) Fopra(i — 1) + 0.125Mppar(i — 1) Fppaa(i — 1)
+0.0625Mppar(i — 1)(1 — ® — n)Fppaa(i — 1) + 0.0625Mppar(i — 1) Fppra(i — 1)],

QvbRa . . . . . .
Miyra = (b;R> [0.5Mppaq (i — 1) Fyppra(t — 1) + 0.5Mppaa (i — 1) Fyoar(i — 1) + Mypaa(t — 1) Frorr(i — 1)

+0.25Mppaa(i — 1)nFppaali — 1) + 0.25Mppaa (i — 1) Fyra(i — 1) + 0.25Mppaa (i — 1) Fppar(i — 1)

£ 0.5Mypaa(i — 1) Fporn(i — 1) + 0.25Mypaa(i — 1) Fypra(i — 1) +0.25Mypaa(i — 1) Fypar(i — 1)
F0.5Mppaa(i — 1) Eypra(i — 1) +0.125Mypaa(i — DnFppaa(i — 1) + 0.125Mypaa(i — 1) Fpppa(i — 1)
F0.125Mypaa(i — 1) Frpar(i — 1) + 0.25Mypaa(i — 1) Frorr(i — 1) + 0.5Mppra(i — 1) Fypaa (i — 1)
+0.25Mypra(i — 1) Fppaa(i — 1) + 0.5Mypra(i — 1) Fypra(i — 1) +0.25Myppa(i — 1) Fypar(i — 1)
F0.5Mypra(i — 1) Fyora(i — 1)+ 0.25Myra(i — 1) Frveali — 1)+ 0.125Mypga(i — 1)(1 — ® — ) Frpaa(i — 1)
F0.125Mypra(i — 1)7F5paa(i — 1) + 0.25Mypra(i — 1) Fpra(i — 1) +0.125Myppa (i — 1) Fpan(i — 1)
F0.25Mpprali — 1) Forr(i — 1) + 0.5Mopar(i — 1) Fypaa(i — 1) + 0.25Mypar(i — 1) Fypaa(i — 1)

£ 0.25Mypar(i — 1) Fypra(i — 1) + 0.25Mypar(i — 1) Fpaa(i — 1) + 0.125Mypar(i — 1)(1 — ® — 7) Frpaa(i — 1)
+0.125Mppar(i — 1) Fpprali — 1) + Myprr(i — 1) Fopaa(i — 1) + 0.5Myprr(i — 1) Fypaa(i — 1)
F0.5Myprr(i — 1) Furali — 1) + 0.5Mpprr(i — 1) Fipaa(i — 1) + 0.25Myprr(i — 1)(1 — ® — 1) Fpaa(i — 1)
+0.25Mpprr(i — 1) Fppra(i — 1) + 0.25MpBpaa(i — 1) Fppra(i — 1) + 0.25MpBpaa (i — 1) Fppar(i — 1)

£ 0.5Mppaa(i — 1) EFyora(i — 1) + 0.125M ppaa (i — 1)7F a0 (i — 1) + 0.125Mppea (i — 1) Fpprali — 1)
+0.125Mpoaa(i — 1) Frpan(i — 1) + 0.25Mppea(i — 1) Fppra(i — 1) + 0.250Mppaa(i — 1) Fypaa(i — 1)
F0.1250Mppaa(i — 1) Fopaali — 1) +0.125(1 — ® — ) Mppaa(i — 1) Fopra(i — 1)

+0.125nMppaa(i — 1) Fopra(i — 1) +0.125(1 — @ — ) Mppaa(i — 1) Fopar(i — 1)

+0.25(1 — ® — ) Mppaa(i — 1) Fyprali — 1) + 0.1250Mppaa(i — 1) Fppaa(i — 1)

+0.06250Mppaa(i — 1)(1 — ® —n) Fppaa(i — 1) +0.0625(1 — @ — n)Mppaa(i — 1)nFppaali — 1)
+0.0625(1 — ® — n)Mppaa(i — 1) Fppra(i — 1) + 0.06250 Mppaa(i — 1) Fppra(i — 1)

£0.0625(1 — & — 1) Mppaali — 1) Fppan(i — 1) +0.125(1 — & — ) Mppaa(i — 1) Fporn(i — 1)

0.0625(1 — ® — 1) Mpyaa(i — DnFppaali — 1) +0.25Mpprali — 1) Fypaali — 1)

F0.125Mpoa(i — 1) Fopaali — 1) + 0.25Mppra(i — 1) Fopga(i — 1) +0.125Mgyga (i — 1) Fypar(i — 1)

£ 0.25Mpyrali — 1) Fyorr(i — 1) + 0.125Mpyra(i — 1) Fipea(i — 1)

+0.0625Mpyra(i — 1)(1 — @ — ) Fppaa(i — 1) + 0.0625Mppra(i — 1) Fppaa(i — 1)

F0.125Mporali — 1) Frprali — 1) + 0.0625M pyra (i — 1) Fppar(i — 1)+ 0.125Mpypa(i — 1) Fyrr(i — 1)
F0.25Mppan(i — 1) Fypaal(i — 1) + 0.125Mpyar(i — 1) Fppaali — 1) + 0.125Mppan(i — 1) Fopra(i — 1)
F0.125Mppar(i — 1) Fpaa(i — 1) +0.0625Mppar(i — 1)(1 — @ — ) Frpaali — 1)

+0.0625Mppar(i — 1) Fpora(i — 1) +0.5Mpprr(i — 1) Fopaa(i — 1) + 0.25Mpyrr(i — 1) Fypaa(i — 1)
+0.25Mpyrr(i — 1) Fyora(i — 1) + 0.25Mppra(i — 1) Fopaa(i — 1)

+0.125Mporp(i — 1)(1 — ® — ) Frpaa(i — 1) +0.125Mpyra(i — 1) Fppra(i — 1),

MbebAA = (b;AA> [0~25MbbAa(Z - l)beAa(Z - 1) + 0~5MbbAa(Z - 1)beAA(Z - 1) + 0'25MbbAa(Z - 1)beAR(Z — 1)

+0.125Mppaq(i — 1)(1 = ® — ) Fppaa(i — 1) + 0.25 Mppaa (i — 1)@ Fppaa(i — 1)

+0.125Mppaa(t — D)nFBpaa(i — 1) + 0.25Mppaa(i — 1) Fpaa(i — 1) + 0.125Mppaa(i — 1) Fppar(i — 1)
+0.5Mppan(i — ) Fppaa(i — 1) + Mppaa(i — 1) Fopaa(i — 1) + 0.5Mppaa(i — 1) Fppar(i — 1)
+0.25Mppaa(i—1)(1 — D — ) Fppaa(i — 1) + 0.5Mppan(i — 1)PFppaq(i — 1)

+ 0~25MbbAA(i — 1)77FBbAa(i - 1) + 0-5MbbAA(7; — l)FBbAA(i — 1) + 0~25MbbAA(i — l)FBbAR(i — 1)
+0.25Mypar(i — ) Fopaa(i — 1) + 0.5Mppar(i — 1) Frpaa(i — 1) + 0.25Mppar(i — 1) Fppar(i — 1)
+0.125Mppar(i — 1)(1 — @ — ) Fppaa(i — 1) + 0.25Mppar(i — 1)@ Fppaq(i — 1)

+0.125Mppar(i — 1)nFppaa(i — 1) + 0.25Mppar(i — 1) Fppaa(i — 1) + 0.125Mppar(i — 1) Fppar(i — 1)
+0.125(1 = ® — n)Mppaa(i — 1) Fopaa(i — 1) + 0.25OMppaq(i — 1) Fppaa(i — 1)

+0.125nMpBpaa(i — 1) Frpaa(t — 1) +0.25(1 — @ — ) Mppaa(t — 1) Fppaa(i — 1)



+0.5PMpyaa(i — 1) Frpaa(i — 1) +0.25nMppaq(i — 1) Fppaa(i — 1)

+0.125(1 — @ — ) Mppaali — 1) Fopar(i — 1) + 0.258 Mpyaa(i — 1) Fopar(i — 1)

+0.1259MBpaa(i — 1) Fypar(i — 1) 4+ 0.0625(1 — & — ) Mppaa(i — 1)(1 = —n)Fppaa(i — 1)
+0.1250Mppaa(i — 1)(1 = @ — n)Fppaa(i — 1) + 0.0625nMppaa(i — 1)(1 = @ — n)Fppaa(i — 1)

10.125(1 — & — ) Mppaa(i — D)®Fppaa(i — 1) +0.0625(1 — & — 1) Mppaali — 1)nFppaali — 1)

0250 Mppaa(i — 1)@ Fppaa(i — 1) + 0.1250Mppaa(i — 1)Fspaali — 1) +0.1250Mppaa(i — 1) Fppaali — 1)
006250 M a0 (i — 1)nFspaa(i — 1) +0.125(1 — & — ) Mppaali — 1) Fppanli — 1)

+0.250Mppaa(i — 1) Frpan(i — 1) +0.1250Mppaa(i — 1) Fpoaa(i — 1)

+0.0625(1 —  — ) Mppaa(i — 1) Fppar(i — 1) + 01258 Mpyaa(i — 1) Fpar(i — 1)

+0.0625nMppaa(i — 1) Fepar(i — 1) + 0.125(1 — & — n)Mppaa(i — 1)PFppaa(i — 1)

F0.0625(1 — @ — ) Mppaa(i — ViFppaali — 1) +0.25Mpyan(i — 1) Fypaali — 1)

4 0.5Mppan(i — 1) Fppan(i — 1)+ 0.25Mppan(i — 1) Fypan(i — 1)

4 0.125Mppan(i — 1)(1 — @ — 1) Frpaa(i — 1) + 0.25Mppan(i — 1)®Fppan(i — 1)

F0.125Mppan(i — D)ipFppaa(i — 1) +0.25Mppan(i — 1) Fppan(i — 1)+ 0.125Mppan(i — 1) Fpan(i — 1)
F0.125Mppar(i — 1) Fypaa(i — 1) + 0.25Mppar(i — 1) Fopan(i — 1)+ 0.125Mppar(i — 1) Fypar(i — 1)
+0.0625Mppan(i —1)(1 — & — 7)Frpaali — 1) + 0.125Mppap(i — 1)®Fppaa(i — 1)

+0.0625Mppar (i — 1)1Fspaa(i — 1) + 0.125Mppar(i — 1) Fppaa(i — 1) + 0.0625Mppar(i — 1) Fapar(i — 1)),

lebAR = <b;AR> [0~25MbbAa('L — 1)beRa('L — 1) + 0-25MbbAa(7/ — 1)beAR(Z — 1) + 0-5MbbAa(7' — 1)beRR('L — 1)

£ 0.125Mypaa(i — 1)1 Fsoaa(i — 1) +0.125Mypaa (i — 1) Frpra(i — 1) + 0.125Mypaa(i — 1) Frpar(i — 1)
+0.25Mypaa(i — 1) Frorr(i — 1) + 0.25Mypra(i — 1) Foyaa(i — 1) + 0.5Mppga(i — 1) Fypan(i — 1)
+0.25Myprali — 1) Fypar(i — 1) + 0.125Mpppa (i — 1)(1 — & — ) Fppaali — 1)

£ 0.25Mypra(i — 1) Frpaa(i — 1) + 0.125Mypra(i — DnFapaali — 1) + 0.25Mypra(i — 1) Frpanli — 1)
+0.125Mypra(i — 1) Fppar(i — 1) +0.5Mypan(i — 1) Fypra(i — 1) + 0.5Mypan(i — 1) Fypar(i — 1)
 Mypaa(i — D Fprr(i — 1) +0.25Mypan(i — 1)Fppaali — 1) +0.25Mypan(i — 1) Frora(i — 1)
+0.25Mypan(i — 1) Fppar(i — 1)+ 0.5Mppan(i — 1) Fpprr(i — 1) +0.25Mypyar(i — 1) Fypaali — 1)

£ 0.25Mypar(i — 1) Fyprali — 1)+ 0.5Mypar(i — 1) Fupan(i — 1) + 0.5Mypar(i — 1) Fppar(i — 1)
+0.5Mypar(i — 1) Fyprr(i — 1) + 0.125Mypar(i — 1)(1 — ® — ) Frpaa(i — 1)

+0.25Mypan(i — D)®Fppaa(i — 1) + 0.25Mypar(i — 1)1Fppaa(i — 1) + 0.125Mypar(i — 1) Fpppa(i — 1)
+0.25Mypar(i — 1) Fppan(i — 1) +0.25Mypar(i — 1) Fppar(i — 1) + 0.25Myupar(i — 1) Fpopr(i — 1)
+0.5Mpyrp (i — 1) Fypaa(i — 1) + Myprr(i — 1) Fypaa(i — 1) + 0.5Mpprp(i — 1) Fypar(i — 1)
+0.25Mpprr(i — 1)(1 — ® — 1) Fpaa(i — 1) + 0.5Myprr(i — 1)®Fppaali — 1)

+0.25Myprr(i — DnFepaali — 1) + 0.5Myprr(i — 1) Fppaa(i — 1) + 0.25Murr (i — 1) Fapar(i — 1)
01250 Mppaa(i — 1) Fopaa(i — 1) +0.125(1 — @ — ) Mppaa(i — 1) Foprali — 1)

0.250 Mpyaa(i — 1) Foprali — 1) + 0.1250Mppaa(i — 1) Fypra(i — 1) + 0.250Mppaa(i — 1) Fypaa(i — 1)
+0.125(1 — @ — ) Mppaa(i — 1) Fopar(i — 1) + 0.250Mppaa(i — 1) Fopar (i — 1)

+0.250Mppaa(i — 1) Fypar(i — 1) +0.25(1 — @ — ) Mppaa(i — 1) Foprr(i — 1)

+ 058 Mppaa(i — 1) Foprr(i — 1) + 0.250Mppaa(i — 1) Foprr(i — 1)

+0.0625nMppaa(i — 1)(1 — @ — 1) Fppaa(i — 1) +0.0625(1 — & — ) Mppaa(i — 1)nFpraa(i — 1)
401250 Mppaa(i — D)nFppaa(i — 1) + 0.1250Mppaq(i — 1)@ Fppaali — 1)

+0.125nMpBpaa(i — 1)nFppaa(i — 1) +0.0625(1 — @ — ) Mppaa(i — 1) Fpora(i — 1)

01250 Mppaa(i — 1) Frprali — 1) + 0.06250Mpyaa(i — 1) Fora(i — 1) +0.1250Mppaa(i — 1) Fpoaa(i — 1)
+0.0625(1 — ® — ) Mppaa(i — 1) Fppar(i — 1) + 0.1250 Mppaa(i — 1) Frpar(i — 1)

+0.1250Mppaa(i — 1) Frpar(i — 1) +0.125(1 — & — ) Mppaa(i — 1) Fporr(i — 1)

+0.250Mppaa(i — 1) Fporr(i — 1) + 0.1250Mppaa(i — 1) Fporr(i — 1)

+0.0625(1 — @ — ) Mppaa(i — V)nFppaa(i — 1) + 0.125Mppra(i — 1) Fypaa(i — 1)



+0.25Mppra(i — 1) Fypan(i — 1) + 0.125Mppra (i — 1) Fppar(i — 1)

+0.0625M ppra(i — 1)(1 = ® — ) Fppaa(i — 1) + 0.125M pyra(i — 1)®Fppaa(i — 1)

+0.0625Mppra(i — 1)nFppaa(i — 1) + 0.125Mpyra(i — 1) Fapaa(i — 1) + 0.0625M gyra (i — 1) Fepar(i — 1)
+0.25Mppan(i — 1) Fopra(i — 1) +0.25Mppan(i — 1) Fypar(i — 1) + 0.5Mpyan(i — 1) Fyprp(i — 1)
+0.125Mppaa(i — 1)nFppaa(i — 1) + 0.125Mppaa(i — 1) Fpra(i — 1) + 0.125Mppaa(i — 1) Fppar(i — 1)
+0.25Mppaa(i — 1) Feyrr(i — 1) + 0.125Mppar(i — 1) Fypaa(i — 1) + 0.125Mppag(i — 1) Fypra(i — 1)
+0.25Mppar(i — 1) Fppaa(i — 1) +0.25Mppar(i — 1) Fypar(i — 1) + 0.25Mpyar(i — 1) Fpprr(i — 1)
+0.0625M ppar(i — 1)(1 — ® — 1) Fpyaa(i — 1) + 0.125Mpyar(i — 1)®Fpyaa(i — 1)

+0.125Mppar(i — 1)nFppaq(i — 1) + 0.0625Mppar(i — 1) Faora(i — 1) + 0.125Mppag(i — 1) Fppaa(i — 1)
+0.125Mppar(i — 1) Fppar(i — 1) + 0.125Mpyar(i — 1) Forr(i — 1) + 0.25Mpyrr(i — 1) Fppaa(i — 1)
+0.5Mpyrr(i — 1) Fpyan(i — 1) +0.25Mpyrr(i — 1) Eypar(i — 1) + 0.125Mpyrr(i — 1)(1 — ® — ) Fppaa(i — 1)
+0.25Mpprr(i — 1)@ Fppaa(i — 1) + 0.125Mpyrr(i — 1)nFepaa(i — 1) + 0.25Mpyrr(i — 1) Fpaa(i — 1)
+0.125Mpyrr(i — 1) Fpar(i — 1)],

MbebRR = (b;RR) [0-25MbbRa(l — l)beRa(Z — 1) + 0~25MbbRa(Z - 1)beAR(’L — 1) + O-5MbbRa(Z — 1)beRR(Z - 1)

+0.125Mypra(i — 1)nFppaa(i — 1) + 0.125Mppra (i — 1) Fpra(i — 1) + 0.125Mppra(i — 1) Fppar(i — 1)

4 0.25Mypra(i — 1) Fporn(i — 1) + 0.25Myupar (i — 1) Fopra(i — 1) + 0.25Myap(i — 1) Fopar(i — 1)

4 0.5Mupar(i — 1) Fywra(i — 1) + 0.125Mypar(i — DnFapaa(i — 1)+ 0.125Mypar(i — 1) Fryral(i — 1)

4 0.125Mypar(i — 1) Fppar(i — 1) + 0.25Mypar(i — 1) Fpora(i — 1) +0.5Myprr(i — 1) Fopra(i — 1)

+ 0.5Myprr(i — 1) Fppar(i — 1) + Mypgrr(i — 1) Fpwrr(i — 1) + 0.25Myyrr(i — 1)nFppaa(i — 1)
+0.25Myprr(i — 1) Fppra(i — 1) + 0.25Myurr(i — 1) Frpar(i — 1) + 0.5Myprr(i — 1) Fpprr(i — 1)
401250 Mppaa(i — 1) Fopra(i — 1)+ 0.1250Mppaa(i — 1) Fopar(i — 1) + 0.250Mpyaa(i — 1) Fyorr(i — 1)
+0.0625nMppaa(i — 1)nFppaa(i — 1) + 0.06250Mppaa(i — 1) Fyra(i — 1)

+0.06250Mppaa(i — 1) Frpan(i — 1) +0.1250Mppaa(i — 1) Fpra(i — 1)+ 0.125Mpoga(i — 1) Fyyra(i — 1)
4 0.125M pynali — 1) Fopar(i — 1) + 0.25Mpyra(i — 1) Foprr(i — 1) + 0.0625M pyga (i — 1) Fppaa(i — 1)
+0.0625M pyra(i — 1) Forali — 1)+ 0.0625Mppra(i — 1) Fapar(i — 1) + 0.125Mpopa(i — 1) Fpra(i — 1)
4 0.125Mpyar(i — 1) Fprali — 1) + 0.125Mppar(i — 1) Far(i — 1) + 0.25Mpyar(i — 1) Fyprr(i — 1)

4 0.0625Mppar(i — 1)1Fppaali — 1) +0.0625Mppar(i — 1) Frora(i — 1) + 0.0625Mppar(i — 1) Fppar(i — 1)
4 0.125Mpyar(i — 1) Fpprr(i — 1)+ 0.25Mppra(i — 1) Fypra(i — 1)+ 0.25Mppra(i — 1) Fypar(i — 1)

4 0.5Mpprr(i — 1) Fwrr(i — 1) + 0.125Mpprr(i — 1)0Fspaa(i — 1) +0.125Mppra(i — 1) Fapra(i — 1)

4 0.125Mpyrr(i — 1) Fpyar(i — 1) +0.25Mpyra(i — 1) Fgorali — 1)),

Q aa . . . .
V— <32”> [0.5Mppaa(i — 1) Fppaa(i — 1) 4+ 0.25Mppaa(i — 1)(1 — ® — ) Fpaa(i — 1)

+0.25Mppaa(i — 1) Feyra(i — 1) + Mypaa(i — 1) Fpaa(i — 1) + 0.5Mypaa(i — 1)(1 — ® — ) Fpaa(i — 1)

4 0.5Mppaali — 1) Fppra(i — 1) + 0.25Mypaa(i — 1) Fipaa(i — 1) + 0.125Mypaa(i — 1)(1 — & — ) Fpaali — 1)
+0.125Mypaa(i — 1) Froga(i — 1) + 0.5Mypaa(i — 1) Frpaali — 1) + 0.25Mppaa(i — 1)(1 — & — ) Fppaali — 1)
4 0.25Mypaa(i — 1) Fppra(i — 1) + 0.25Mypra(i — 1) Frpaa(i — 1) + 0.125Mypra(i — 1)(1 — ® — ) Fpaali — 1)
4 0.125Mypra(i — 1) Frprali — 1)+ 0.5Mypra(i — 1) Frpaali — 1) + 0.25Mypga(i — 1)(1 — ® — ) Fppaali — 1)
+0.25Mppra(i — 1) FBBRa(i — 1) + 0.5MBpaa(i — 1) Fypaa(i — 1) + 0.25Mppaa(i — 1) Fypaa(i — 1)
+0.25Mpbaa(i — 1) Fopra(i — 1) + 0.5Mpbaa (i — 1) Frpaali — 1) + 0.25Mppaa(i — 1)(1 — ® — 1) Fpaa(i — 1)
+0.25MBpaa(i — 1) FBoga(i — 1) + 0.5MBpaa(i — 1) FBBaa(i — 1) + 0.25MpBpaqa(i — 1)(1 — @ — ) Fppaa(i — 1)
+0.25MBpaa(i — 1)Fepra(i — 1) +0.25(1 — ® — ) Mppaa(i — 1) Fypaa(i — 1)

40.125(1 — ® — 1) Mppaali — 1) Fypaali — 1) +0.125(1 — ® — ) Mppaa(i — 1) Foprali — 1)

+0.25(1 = ® = n)Mppaa(i — 1) Fppaa(i — 1) + 0.125(1 — @ — ) Mppaa(i — 1)(1 — @ — ) Fppaa(i — 1)
+0.125(1 = ® — n)Mppaa(i — 1) Fpora(i — 1) + 0.25(1 = ® — ) Mppaa(i — 1) Fppaa(i — 1)

+0.125(1 = @ —n)Mppaa(i — 1)(1 = @ — 1) Fppaa(i — 1) +0.125(1 — & — n)Mpyaa(i — 1)Fra(i — 1)
+0.25Mpyra(i — 1) Fypaa(i — 1) + 0.125Mpyra(i — 1) Fypaa(i — 1) + 0.125Mppra(i — 1) Fopra(i — 1)
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+0.25Mpyra(i — 1) FBpaa(i — 1) + 0.125Mppra(i — 1)(1 — ® — 1) Fppaa(i — 1)

+0.125Mppra(i — 1) Fapra(i — 1) + 0.25Mpoga(i — 1) Fppaa(i — 1)

F0.125Mpopali — 1)(1 — @ — ) Fppaali — 1) +0.125Mpppa(i — D) Fppra(i — 1)+ Mppaa(i — 1) Fopaali — 1)
4 0.5MpBaa(i — 1) Fypaa(i — 1)+ 0.5Mppaa(i — 1) Fyora(i — 1) + 0.5Mppaa(i — 1) Fapaali — 1)
+0.25Mppaa(i — 1)(1 = ® — 1) Fppaa(i — 1) + 0.25Mppaa(i — 1) Fyra(i — 1)

+05(1— @ — ) Mppaa(i — 1) Fopaa(i — 1) + 0.25(1 — & — ) Mppaa(i — 1) Fopaali — 1)

+0.25(1 = @ —n)Mppaa(i — 1) Frpra(i — 1) +0.25(1 — @ — n)Mppaa(i — 1) Fppaa(i — 1)

F0.125(1 — @ — ) Mppaali — 1)(1 — ® — ) Fpaa(i — 1) + 0.125(1 — & — ) Mppaa(i — 1) Faora(i — 1)
£ 0.5MppRrali — 1) Fopaali — 1) +0.25Mppra(i — 1) Fypaali — 1) + 0.25Mppra(i — 1) Fopral(i — 1)
+0.25Mpprali — 1) Fpaali — 1)+ 0.125Mpppa(i — 1)(1 — ® — n)Fppaa(i — 1)

F0.125MppRra(i — 1) Fpyrali — 1)),

QBbAa ) . ) )
= (BQZ’A) [0.25 Mippaa(i — 1)(1 — ® — 1) Fepaali — 1) + 0.5Mppaa(i — 1)®Fppaa(i — 1)

+0.25Mypaa (i — 1)1 F5pa0(i — 1) + 0.5Mypaa(i — 1) Frpaa(i — 1) + 0.25Mppaa(i — 1) Fppan(i — 1)
F0.5Mypaa(i — 1)(1 — @ — ) Frpaai — 1) + Myaa(i — 1)®Fppaa(i — 1) + 0.5Mppea (i — DnFrpaali — 1)

+ Mppaa(i — 1) Fppaa(i — 1) + 0.5Mppaa(i — 1) Fppar(i — 1) + 0.25Mpp a4 (i — 1) Fpaa(i — 1)

£ 0.25Mypaa(i — 1)(1 — @ — ) Frpaa(i — 1) + 0.25Mypaa(i — 1)®Fppaali — 1)

F0.125Mppaa(i — 1)7Fppaa(i — 1) + 0.125Mypaa(i — 1) Frprali — 1) + 0.25Mypan(i — 1) Frpan(i — 1)
F0.125Myp a0 (i — 1) Frpar(i — 1) + 0.5Myppa(i — 1) Frpaal(i — 1) + 0.5Mppaali — 1)(1 — ® — ) Fppaali — 1)
0.5Mypaali — )PFppaa(i — 1) +0.25Mypaa(i — 1)1Fpaa(i — 1) +0.25Mypaa(i — 1) Fpprali — 1)
+0.5Mppaq(i — 1) Fppaa(i — 1) +0.25Mppaa(i — 1) Fppar(i — 1)

+0.125Myppa(i — 1)(1 — ® — 1) Frpaa(i — 1)+ 0.25Mypra(i — 1) Fppaa(i — 1)

+0.125Mypra(i — 1)1 F5saa(i — 1)+ 0.25Mppra(i — 1) Faoan(i — 1) + 0.125Mypra(i — 1) Frpar(i — 1)

£ 0.25Myppa(i — 1)(1 — @ — 1) Frpaali — 1) + 0.5Myppa(i — 1)®Fppaa(i — 1)

+0.25Mypra(i — DpFppaali — 1) + 0.5Mypra(i — D) EFppaa(i — 1) +0.25Myra(i — 1) Fppan(i — 1)

+ 0-5MbbAA(i — ]-)FBbaa(i — 1) + 0~25MbbAA(i — 1)(1 - — U)FBbAa(i — 1) + 0o25MbbAA(i — ]-)FBbRa(i — 1)
" Mypan(i — 1) Fppaa(i — 1) + 0.5Mypan(i — 1)(1 — ® — ) Fpaali — 1) + 0.5Mypanli — 1) Frpra(i — 1)

£ 0.25Mypar(i — 1) Fpaa(i — 1) +0.125Mypan(i — 1)(1 — & — ) Frpaali — 1)

F0.125Mypar(i — 1) Fpora(i — 1) + 0.5Mypar(i — 1) Fppaali — 1) +0.25Myppar(i — 1)(1 — ® — 1) Frpaali — 1)
F0.25Mypan(i — D) Fppra(i — 1) +0.25Mppaa(i — 1) Fypaa(i — 1) + 0.5Mppaa(i — 1) Fopan(i — 1)
+0.25Mppaa(i — 1) Fppan(i — 1) + 0.25Mppaa (i — 1)(1 — @ — ) Fppaa(i — 1) + 0.5Mppaa(i — 1)@ Fppaali — 1)
+0.25Mppaa(i — 1)1 F5paa(i — 1) + 0.5Mppaa(i — 1) Fppaa(i — 1) + 0.25Mppaa(i — 1) Frpar(i — 1)
+0.25MBpaa(i — 1)(1 — ® — ) Fpaa(i — 1) + 0.5Mppaa(i — 1)®Fppaa(i — 1)

F0.25Mppaa(i — V1Fspaa(i — 1) + 0.5Mppaa(i — 1) Fppan(i — 1)+ 0.25Mppaa(i — 1) Fppar(i — 1)
F0.25(1 — ® — ) Mpyaa(i — 1) Fopaali — 1) + 0.50Mppaa(i — 1) Fypaa(i — 1) + 0.250Mpyaa(i — 1) Fopaa(i — 1)
+0.25(1 — @ — ) Mppaa(i — 1) Fypaa(i — 1) + 0.250 Mppaa(i — 1) Fopaa(i — 1)

01250 M pyaa(i — 1) Fopaa(i — 1) +0.125(1 — ® — 1) Mppaa(i — 1) Fopra(i — 1)

+0.250 Mppaa(i — 1) Fopra(i — 1) + 0.125nMppaa(i — 1) Fypra(i — 1)

£0.25(1 — @ — ) Mppaa(i — 1) Fopan(i — 1) +0.125(1 — & — ) Mppaa(i — 1) Fypar(i — 1)

10.25(1 — @ — ) Mppaa(i — 1) Fppaa(i — 1) +0.50Mppaa(i — 1) Frveali — 1) +0.250Mppaa(i — 1) Frpea(i — 1)
+0.25(1 — @ —n)Mppaa(i — 1)(1 — @ — ) Fppaa(i — 1) +0.25@Mppaa(i — 1)(1 — @ — 1) Fppaa(i — 1)
+0.125nMppaa(i = 1)(1 = ® = 1) Fppaa(i — 1) +0.25(1 = @ — ) Mppaa(i — 1)@Fppaa(i — 1)

£0.125(1 — ® — ) Mppaa(i — DnFppaali — 1) +0.125(1 — & — ) Mppaa(i — 1) Fopa(i — 1)

+0.250 Mppaa(i — 1) Fppra(i — 1) +0.1250Mppaa(i — 1) Frpra(i — 1) +0.25(1 — & — ) Mppaa(i — 1) Fppan(i -
+0.125(1 = ® — ) Mppaa(i — 1) Fppar(i — 1) + 0.25(1 — & —n)Mppaa(i — 1)Fppaa(i — 1)

0.5 Mppaa(i — 1) Fppaali — 1) + 0.250Mpyaa(i — 1) Frpaali — 1)

+0.25(1 = ® — ) Mppaa(i — 1)(1 = —n)Fppaa(i — 1) + 0.250Mppaa(i — 1)(1 — @ — ) Fppaa(i — 1)
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01250 Mppaa(i —1)(1 — @ — ) Frpaa(i— 1) +0.25(1 — & — ) Mppaa(i — 1)®Fppaa(i — 1)

+0.125(1 — @ — ) Mppaali — 1)1Fppaa(i — 1) + 0.125(1 — & — ) Mppaa(i — 1) Fppra(i — 1)

+0.250 Mppaa(i — 1) Fpara(i — 1) +0.1250Mppaa(i — 1) Fppra(i — 1)

40.25(1 = ® — ) Mppaali — D) Fspanli — 1) +0.125(1 — & — ) Mppaali — ) Fpar(i—1)

£ 0.125Mpora(i — 1) Fypaa(i — 1) +0.25Mpyra(i — 1) Fypan(i — 1) +0.125Mpyga(i — 1) Fypan(i — 1)
F0.125Mpppa(i — 1)(1 — ® — ) Fppaa(i — 1)+ 0.25Mppga(i — 1)@ Fppaa(i — 1)

F0.125Mpopa(i — DFppaa(i — 1) + 0.25Mpyra(i — 1) Fppan(i — 1) + 0.125Mppra(i — 1) Frpan(i — 1)
F0.125Mpprali — 1)(1 — ® — 1) Fppaa(i — 1) + 0.25Mpyga(i — 1)®Fppae(i — 1)

+0.125Mpyga(i — 1)0F55aa(i — 1) + 0.25Mpoga(i — 1) Fppan(i — 1) +0.125Mppra(i — 1) Fapar(i — 1)

+ 0~5MBbAA(i — 1) bbaa(z — 1) + 0. 25MBbAA(i — l)beAa(i — 1) + 0~25MBbAA(i — l)beRa(i — 1)
F0.5Mpoan(i — 1) Frpaali — 1) + 0.25Mppan(i — 1)(1 — ® — ) Fpaa(i — 1) + 0.25Mppan(i — 1) Frprali — 1)
F0.5Mpypan(i — 1) FaBaali — 1)+ 0.25Mppan(i — (1 — @ — ) Frpaali — 1)

£ 0.25Mpyan(i — DFpprali — 1) +0.25Mppar(i — 1) Fypaa(i — 1) + 0.125Mpyar(i — 1) Fypaa(i — 1)
+0.125Mppan(i — 1) Fyora(i — 1) + 0.25Mppar(i — 1) Frpeali — 1)

F0.125Mppan(i — 1)(1 — ® — ) Fpaa(i — 1) +0.125Mppar(i — 1) Fpppa(i — 1)

£ 0.25Mppan(i — V) Fppaali — 1) + 0.125Mppar(i — 1)(1 — ® — 1) Fppaa(i — 1)

+0.125Mpoar(i — D) Fppra(i — 1)+ 0.5Mppaa(i — 1) Fypaa(i — 1) + Mppaal(i — 1) Fpan(i — 1)

4 0.5Mppaa(i — 1) Fypar(i — 1) +0.25Mppaa(i — 1)(1 — ® — ) Fapaa(i — 1) + 0.5Mppaali — 1) Fppaali — 1)
F0.25MBBeali — 1)1 Fabaa(i — 1) + 0.5Mppaa(i — 1) Frpan(i — 1) + 0.25Mppaa(i — 1) Frpar(i — 1)

+0.5(1 = ® —n)Mppaa(i — 1) Fypaa(i — 1) + PMppaa(i — 1) Fppaa(i — 1) + 0.50Mppaa(i — 1) Fypaa(i — 1)
F05(1—® — ) Mppaali — 1) Fpaali — 1) + 0.5 Mppaali — 1) Fopaali — 1)

F0.250Mppaa(i — 1) Epaali — 1) +0.25(1 — & — ) Mppaali — 1) Fypra(i — 1)

F050Mppaa(i — 1) Foprali — 1) + 0.257Mppaa(i — 1) Fupra(i — 1)

1051 — @ — ) Mppaali — 1) Fpanli — 1) +0.25(1 — & — ) Mppaa(i — 1) Fopar(i — 1)

+0.25(1 = ® —n)Mppaa(i — 1)Fppaa(i — 1) + 0.5@Mppaa(i — 1) FBpaa(i — 1)

+0.25nMppaa(i — 1) FBbaa(i — 1) +0.25(1 — @ —n)Mppaa(i — 1)(1 — ® — 1) Fppaa(i — 1)

+0.250Mppaa(i —1)(1 — ® = n)Fppaa(i — 1) + 0.125nMppaa(i — 1)(1 — ® — ) Fpaa(i — 1)

+0.25(1 =@ —n)Mppaa(i — 1)PFppaa(i — 1) +0.125(1 — @ — n)Mppaa(i — 1)nFpraq(i — 1)

101251 — & — ) Mppaali — 1) Fppra(i — 1) +0.250Mppaali — 1) Frpra(i — 1)

01250 Mppaa(i — 1) Fpprali — 1) +0.25(1 — & — ) Mppaa(i — 1) Fppanli — 1)

£0.125(1 — ® — ) Mppaa(i — 1) Fppan(i —1) +0.25Mppra(i — 1) Fypaa(i — 1)

+0.5Mpprali — 1) Fypanli — 1)+ 0.25Mppra(i — 1) Fypar(i — 1)

F0.125Mppra(i — 1)(1 — ® — 0)Fppaali — 1) +0.25Mppra(i — )®Fppaa(i — 1)

F0.125Mppra(i — DFppaali — 1) + 0.25Mppra(i — 1) Fpanli — 1)+ 0.125Mpprali — 1) Fppar(i — 1)

+ Mppaa(i —1)Fppaa(i — 1) +0.5Mppaa(i — 1) Fypaa(i — 1) +0.5Mppaa(i — 1) Fypra(i — 1)

F05Mppanli — 1) Fapeali — 1) +0.25Mppanli — 1)(1 — & — n)Fppaali — 1)

F0.25Mppanli — ) Fspra(i — 1) +0.5Mppar(i — 1) Epeali — 1) + 0.25Mppan(i — 1) Fypaali — 1)
F0.25Mppar(i — 1) Fwra(i — 1) +0.25Mppar(i — 1) Fapea(i — 1)

+0.125Mppan(i — 1)(1 — ® — 1) Fpaa(i — 1) + 0.125Mppar(i — 1) Fpora(i — 1],

= (Qora/2)[0-25Mypaa (i — 1)1 F5paa(i — 1) + 0.25Mppaa (i — 1) Fnpra(i — 1) + 0.25Mypa(i — 1)
+0.5Mopaa(i — 1) Fiprali — 1) + 0.5Mypaa (i — V0 F55aa(i — 1)+ 0.5Mppaa (i — 1) Fpnrali — 1)
+0.5Mppaa(i — 1) Fppar(i — 1) + Mypaa(i — 1) Fpprr(i — 1) + 0.125Myp 44 (i — 1)nFppaa(i — 1)
0.125Mypaa(i — 1) Frprali — 1) +0.125Mypaa(i — 1) Frpar(i — 1) + 0.25Mypaa(i — 1) Fpprr(i — 1)
+0.25Mppaa(t — D)nFppaa(i — 1) + 0.25Mppaa(i — 1) FeaRra(i — 1) + 0.25Mppaa(i — 1) Fepar(i — 1)
F0.5Mypaa(i — DFpnrr(i — 1) +0.25Mppra(i — 1) Fpaa(i — 1) + 0.125Mypra(i — 1)(1 — ® — 1) Fppaa(i — 1)
+0.125Mppra(i — 1)1 F0a0(i — 1) + 0.25Mppra(i — 1) Foga(i — 1) + 0.125Mypra (i — 1) Frpar(i — 1)

£ 0.25Mpprali — 1) Fporn(i — 1) + 0.5Mppra(i — 1) Fppaa(i — 1) + 0.25Mypra(i — 1)(1 — @ — ) Fppaali — 1)

{2
2

Fppar(i—1)
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+0.25Mypga(i — DnFppaa(i — 1) + 0.5Mpra(i — 1) Fppra(i — 1) + 0.25Mypga(i — 1) Fppar(i — 1)
+0.5Mypra(i — 1)Fearr(i — 1) + 0.25Mpar(i — 1) Fabaq(i — 1) 4+ 0.125 My, ar(i — 1)(1 — ® — 1) Fapaqa(i — 1)
+0.125Mupar(i — 1) Fppga(i — 1) + 0.5Mupar(i — 1) Fppaa(i — 1) + 0.25Mpar(i — 1)(1 — ® — n)Fppaa(i — 1)
+0.25Mypar(i — 1) Fppra(i — 1) + 0.5Mprr (i — 1) Faoaa(i — 1) + 0.25Myprr(i — 1)(1 — ® — n)Fppaq(i — 1)

+0.25Muprr(i — 1) Fbra(i — 1) + Muprr(i — 1) Fpaa(i — 1) + 0.5Mppgr(i — 1)(1 — @ — U)FBBAa(i -1
F05Muprr(i — 1) Fssrali — 1) + 0.25Mppea(i — 1) Fypra(i — 1)+ 0.25Mppaa(i — 1) Fypar(i — 1)
F0.5Mppaa(i — 1) Fyorali — 1) +0.25Mppaa(i — DnFppaa(i — 1)+ 0.25Mppaa(i — 1) Frprali — 1)
+0.25Mppaali — 1) Foar(i — 1) + 0.5Mppea(i — 1) Fyra(i — 1) + 0.25Mpoaa (i — DnFapaali — 1)
+0.25Mppaa(i — 1) Fppra(i — 1) +0.25Mppaa(i — 1) Fppar(i — 1) + 0.5Mppea(i — 1) Fpprr(i — 1)
+0.25nMppaa(i — 1) Fopaa(i — 1) + 0.1250Mppaa(i — 1) Fypaa(i — 1)

01251 — ® — ) Mppaai — 1) Fypra(i — 1)+ 0.1250Mpyaa(i — 1) Fopra(i — 1)

4 0.125(1 — @ — ) Mapaa(i — 1) Fopar(i — 1)+ 0.25(1 — ® — 1) Mppaa(i — 1) Frprnli — 1)
+0.25nMppaa(i — 1) FBpaa(i — 1) + 0.125nMppaa(i — 1)(1 — @ — ) Fppaa(i — 1)

+0.125(1 = @ — ) Mppaa(i — 1)nFpraa(i — 1) +0.125(1 — ® — ) Mppaa(i — 1)Fppra(i — 1)
+0.125nMppaa(i — 1) Fpora(i — 1) +0.125(1 = ® — ) Mpyaa(i — 1) Fppar(i — 1)

£0.25(1 — @ — ) Mppaa(i — 1) Fprr(i — 1) +0.250Mppaa(i — 1) Fppaa(i — 1)

+0.125nMppaa(i — 1)(1 — @ — ) Fppaa(i — 1) + 0.125(1 — ® — 1) Mppaa(i — 1)nFppaa(i — 1)
F0.125(1 — & — ) Mppaa(i — DFpprali — 1) +0.1250Mppaa(i — 1) Fprali — 1)

£0.125(1 — ® — ) Mppaali — D Fppan(i —1) +0.25(1 — ® — ) Mppaa(i — D) Fpprali —1)

£ 0.25Mpyrali — 1) Fypaa(i — 1) + 0.125Mppra (i — 1) Fopaa(i — 1) + 0.25Mpyra(i — 1) Foprali — 1)
+0.125Mpoa(i — 1) Fopar(i — 1) + 0.25Mpora(i — 1) Fprr(i — 1) + 0.25Mpyra(i — 1) Fppeali — 1)
F0.125Mpopa(i — 1)(1 — ® — ) Fpaa(i — 1)+ 0.125Mpypa(i — 1)pFppaali — 1)

+0.25Mpya(i — 1) Faora(i — 1) + 0.125Mpoga(i — 1) Frpar(i — 1)+ 0.25Mpyra(i — 1) Faora(i — 1)
+0.25Mppra(i — 1) Fppaa(i — 1) + 0.125Mppra(i — 1)(1 — ® — n)Fppaa(i — 1)

+0.125Mpopa(i — VFppaa(i — 1) + 0.25Mppra(i — 1) Fprali — 1) + 0.125Mppra(i — 1) Fppan(i — 1)
+0.25Mpypra(i — DFppra(i — 1) +0.25Mppar(i — 1) Fupaa(i — 1) +0.125Mpyar(i — 1) Fypaali — 1)

4 0.125Mppar(i — 1) Fypra(i — 1) + 0.25Mppar(i — 1) Froea(i — 1)

+0.125Mppag(i — 1)(1 — @ — ) Fppaali — 1) + 0.125Mpyar(i — 1) Frprali — 1)

F0.25Mppan(i — 1) Fppaa(i — 1)+ 0.125Mppar(i — 1)(1 — ® — 1) Fppaali — 1)

F0.125Mppar(i — ) Fepra(i — 1) + 0.5Mpyrr(i — 1) Fyaa(i — 1) + 0.25Mporr(i — 1) Fopaa(i — 1)

£ 0.25Mpyrr(i — D) Fyra(i — 1) + 0.5Mppra(i — 1) Fpaa(i — 1) + 0.25Mporr(i — 1)(1 — ® — 7) Fyaa(i — 1)
F0.25Mpyrr(i — D) Fppra(i — 1) + 0.5Mporr(i — 1) Frpeali — 1) + 0.25Mpprr(i — 1)(1 — @ — ) Frpaali — 1)
+0.25Mpora(i — 1) Fpara(i — 1) + 0.5Mppeali — 1) Fura(i — 1) + 0.5Mppeali — 1) Fapar(i — 1)

¥ MpBaali — 1) Fosrr(i — 1) + 0.25Mppaa(i — D)nFepaa(i — 1) + 0.25Mppaa(i — 1) Faprali — 1)
+0.25MBBaa(i — 1)Fppar(i — 1) + 0.5Mppaa(i — 1) Fporr(i — 1) + 0.50Mppaa(i — 1) Fypaa(i — 1)
F0.250Mppaa(i — 1) Fypaa(i — 1) +0.25(1 — & — ) Mppaali — 1) Fypra(i — 1)

0250 Mppaa(i — 1) Fyppa(i — 1) +0.25(1 — @ — ) Mppaali — 1) Fupar(i — 1)

£0.5(1— @ — ) Mppaali — V) Fyprrli — 1) + 0.250Mppaa(i — 1) Fapeali — 1)

+0.1250Mppaa(i — 1)(1 — ® — 1) Fpaa(i — 1) +0.125(1 — & — ) Mppaa(i — 1)nFppaali — 1)
F0.125(1 — & — ) Mppaali — 1) Fppra(i — 1)+ 0.1250Mppaa(i — 1) Fyra(i — 1)

£0.125(1 — @ — ) Mppaali — 1) Fppan(i — 1) +0.25(1 — & — ) Mppaali — 1) Fpopr(i — 1)

£ 0.5Mp5r0li — 1) Fipaali — 1) +0.25Mppra(i — 1) Fpaali — 1) + 0.5Mppra(i — 1) Fprali — 1)

1 0.25Mppra(i — DFpwar(i — 1) +0.5Mppra(i — D Fywrr(i — 1) +0.25Mppra(i — 1) Fapaa(i — 1)
F0.125Mppra(i — 1)(1 — ® — 0)Fppaali — 1)+ 0.125Mppra(i — 1)nFppaali — 1)

0.25Mp5ra(i — 1) Fapra(i — 1) + 0.125MpRe(i — 1) Fepar(i — 1) + 0.25Mppre(i — 1) Feyrr(i — 1)
£ 0.5Mppan(i — 1) Foeali — 1) + 0.25Mppan(i — 1) Fpaali — 1) +0.25Mppar(i — 1) Fypga(i — 1)
F0.25Mppar(i — 1) Fppaa(i — 1)+ 0.125Mppan(i — 1)(1 — @ — 1) Fppaa(i — 1)
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+0.125Mppar(i — 1)FBora(i — 1) + MpprR(i — 1) Fppaa(i — 1) +0.5Mpprr(i — 1) Fppaa(i — 1)
+ 0'5MBBRR(7; — 1)beRa(i — 1) + 0~5MBBRR(i — 1)FBbaa(i — 1)
+ OQE)MBBRR(i — 1)(1 — o — n)FBbAa(i — 1) + 0-25MBBRR(i — ]-)FBbRa(i — 1)},

Q)
_ ( B;)AA) [0.125Mppaa(i — 1)(1 — @ — 1) Fppaa(i — 1) + 0.25Mypaa (i — 1)@ Fppaqa(i — 1)

+0.125Myp a0 (i — 1) FBbaali — 1) 4+ 0.25Mypaq(i — 1) Fppan(i — 1) 4+ 0.125Myp a0 (i — 1) Fppar(i — 1)
+0.25Mppaa(i — 1) (1 =@ —n)Fppaa(i — 1) + 0.5Mppaa(i — 1)PFppaq(i — 1)

+0.25Mypaa(i — DnFppaali — 1) + 0.5Mpaa(i — 1) Fppaali — 1) + 0.25Mypaa(i — 1) Fppar(i — 1)
+0.25Mppan(i —1)(1 — ® — ) Fpaa(i — 1) + 0.5Mypaa(i — 1)®Fppaq(i — 1)

+0.25Mypan(i — )Fppaq(i — 1) + 0.5Mypaa(i — 1) Fpan(i — 1) + 0.25Mypan(i — 1) Fppar(i — 1)

+ 0-5MbbAA(i — 1)(1 — P — W)FBBAa(i — 1) + MbbAA(i — 1)(1)FBBAa(i — 1) + 0~5MbbAA(i — 1)77FBBAa(i — 1)
+ Mypan(i — 1) Fppan(i — 1) +0.5Mpan(i — 1) Fppar(i — 1) + 0.125Mpar(i — 1)(1 — ® — n) Fpaali — 1)
+0.25Mppar(i — 1)®Fppaq(i — 1) 4 0.125Myppar(i — 1)nFppaa(i — 1) +0.25Myp ar (i — 1) Fepaa(i — 1)
+0.125Mypar(i — 1) Fppar(i — 1) + 0.25Myp ap(i — 1)(1 — ® — ) Fppaa(i — 1)

+0.5Mpar(i — )®Fppaa(i — 1) + 0.25Mypar(i — DnFppaali — 1) 4+ 0.5Mupar(i — 1) Fgpaa(i — 1)
+0.25Mupar(i — 1) Fapar(i —1) +0.125(1 — ® — n)Mppaa(i — 1) Fopaa(i — 1)

+0.250Mppaa(i — 1) Fypaa(i — 1) + 0.1250Mppaa (i — 1) Fypaa(i — 1)

+0.25(1 — ® — ) Mppaal(i — 1) Foppan(i — 1) + 0.5 Mppaa(i — 1) Fypan(i — 1)

+0.250Mppaq(i — 1) Fypan(i — 1) + 0.125(1 — ® — n)Mppaa(i — 1) Fopar(i — 1)

+0.250Mpyaa(i — 1) Fypar(i — 1) 4+ 0.125nMppaa(i — 1) Fypar(i — 1)

+0.125(1 — ® — ) Mppaa(i — 1)(1 — ® — 1) Fppaa(i — 1) +0.250 Mpyaa(i — 1)(1 — D — ) Fppaali — 1)

4+ 0.1250Mpyaa(i — 1)(1 — ® — 1) Fppaa(i — 1) +0.25(1 — & — ) Mppaa(i — 1)®Fppaq(i — 1)

+0.125(1 = ® — ) Mppaa(i — 1)nFppaa(i — 1) +0.50Mppaa(i — 1)®Fppaqli — 1)

+0.250 Mppaa(i — D)nFppaa(i — 1) + 0.25nMppaa(i — )P Fppaa(i — 1) + 0.1250Mppae(i — 1)nFppaali — 1)
+0.25(1 = ® — ) Mppaa(i — 1) Frpan(i — 1) +0.50Mppaa(i — 1) Fapan(i — 1)

+0.250Mppaa(i — 1) Fppaa(i — 1) + 0.125(1 — ® — ) Mppaa(i — 1) Fppar(i — 1)

+0.25®Mpyaa(i — 1) Fppar(i — 1) + 0.1250Mpyaa(i — 1) Fppar(i — 1)

+0.125(1 — ® — ) Mppaa(i — 1)(1 = ® — ) Fepaa(i — 1) + 0.250Mppaqa(i — 1)(1 — ® — 1) Fppaq(i — 1)
+0.125nMppaa(i — 1)(1 = @ =) Fppaa(i — 1) +0.25(1 — & — ) Mppaa(i — 1)®Fppad(i — 1)

+0.125(1 = ® — ) Mppaa(i — 1)nFppaali — 1) + 0.50Mppaa(i — 1)®Fppaq(i — 1)

+0.250Mppaa(i — 1)nFppaa(i — 1) +0.250Mppaa(i — 1)®Fppaq(i — 1)

+0.1250Mppaa(i — )nFppaa(i — 1) +0.25(1 — ® — ) Mppaa(i — 1) Fppaali — 1)

+ 0~5(I)MBbAa(i — l)FBBAA(i - 1) + 0~2577MBbAa(i - 1)FBBAA(i - 1)

+0.125(1 = ® — ) Mppaa(i — 1) Fspar(i — 1) + 0.250Mpyaa(i — 1) Fppar(i — 1)

+0.125nMpyaa(i — ) Fppar(i — 1) + 0.25Mpyaa(i — 1) Fypaa(i — 1) + 0.5Mppan(i — 1) Fypan(i — 1)
+0.25Mppan(i — 1) Fppar(i — 1) + 0.25Mppaa(i —1)(1 — D — ) Fpaali — 1)

+ 0-5MBbAA(i — ]-)CDFBbAa(i — 1) + 0-25MBbAA(i — 1)77FBbAa(i — 1) + 0-5MBbAA(i — l)FBbAA(i — 1)
+0.25Mppan(i — 1) Fppar(i — 1) + 0.25Mpyaa(i — 1)(1 — & — 1) Fppaa(i — 1)

+0.5Mppan(i — D)®Fppaa(i — 1) +0.25Mppan(i — )nFppaa(i — 1) + 0.5Mppaa(i — 1) Fppaa(i — 1)
+0.25Mpyoan(i — 1) Fppar(i—1) 4+ 0.125Mppar(i — 1) Fopaa(i — 1) + 0.25Mppar(i — 1) Fopan(i — 1)
+0.125Mppar(i — 1) Fypar(i — 1) + 0.125Mpyap(i — 1)(1 — ® — 1) Fapaa(i — 1)

+0.25Mpyar(i — D)®Fppaq(i — 1) + 0.125Mppar(i — D)nFppae(i — 1) + 0.25Mppar(i — 1) Fgpan(i — 1)
+0.125Mpyar(i — 1) Fppar(i — 1) +0.125Mpyap(i — 1)(1 — ® — ) Fppaa(i — 1)

+0.25Mppar(i — 1)®Fppaa(i — 1) + 0.125Mpyar(i — 1)nFpaa(i — 1) + 0.25Mpyar(i — 1) Fepaa(i — 1)
+0.125Mpyar(i — 1) Fppar(i — 1) 4+ 0.25(1 — & — ) Mppaali — 1) Fypaali — 1)

+0.5PMppaali — 1) Fopaq(i — 1) +0.25nMppaa(i — 1) Fypaa(i — 1)

+0.5(1 =@ —n)Mppaa(i — 1) Fypaa(i — 1) + ®PMppaa(i — 1) Fppaa(i — 1) + 0.50Mppaa(i — 1) Fppaa(i — 1)
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£0.25(1 — @ — ) Mppaa(i — 1) Fopar(i — 1) +0.58Mppaa(i — 1) Fypar(i — 1)

+0.250Mppaa(i — 1) Fypar(i — 1) +0.125(1 — @ —n)Mppaa(i — 1)(1 — ® — 1) Fppaa(i — 1)
+0.250Mppaa(i —1)(1 = ® — ) Fppaa(i — 1) + 0.125nMppaa(i — 1)(1 — ® — ) Fppaa(i — 1)

+0.25(1 — ® — ) Mppaali — 1)®Fppaali — 1) +0.125(1 — & — ) Mppaai — D)nFapaali — 1)
F0.50Mppaali — 1) Fppaa(i — 1) + 0.250Mppaa(i — 1)nFppaali — 1)

+0.25nMppaa(i — 1)®Fppaa(i — 1) + 0.1250Mppaa(i — 1)nFppaa(i — 1)

£0.25(1— @ — ) Mppaa(i — 1) Fppanli — 1)+ 050Mppaal(i — 1) Frpan(i — 1)

0250 Mppaa(i — D) Fgpan(i — 1) +0.125(1 — ® — ) Mppaa(i — 1) Fyar(i — 1)

£ 0.250Mppaa(i — 1) Fppan(i — 1) +0.1250Mppaa(i — 1) Fppar(i — 1) + 0.5Mppaa(i — 1) Fypaa(i — 1)
 Mppaa(i— DFpan(i —1) +0.5Mppan(i — D) Fwar(i — 1) +0.25Mppani — 1)(1 = ® — n)Fapaali — 1)
F05Mppanli — 1)®Fppaali — 1) +0.25Mppan(i — DnFapaali — 1)+ 0.5Mppanli — 1) Frpan(i — 1)
F0.25Mppan(i — 1) Fgpan(i — 1) +0.25Mppar(i — 1) Fupaali — 1) + 0.5Mppar(i — 1) Fupaali — 1)
F0.25Mppan(i — D) Fwar(i — 1) +0.125Mppanr(i — 1)(1 —  — ) Fyaali — 1)

F0.25Mppan(i — 1)®Fppaa(i — 1) + 0.125Mppar(i — 1)1Fspaa(i — 1) +0.25Mppar(i — 1) Frpanli — 1)
F0.125Mppar(i — D) Fgpar(i — 1)),

Q
- (BSAR> [0.125Mypa0(i — DnFpoaa(i — 1) + 0.125Myy a0 (i — 1) Fpprali — 1)

4 0.125Mypaa(i — 1) Frpar(i — 1) + 0.25Mypaa(i — 1) Frprr(i — 1) + 0.25Mypaa (i — ViFpaali — 1)
F0.25Mypaa(i — D Fpprali — 1) +0.25Mypaa(i — 1)Fppar(i — 1)+ 0.5Mypaa(i — 1)Fpprai — 1)
+0.125Mppra(i — 1)(1 = @ — 0) Fpaa(i — 1) + 0.25Mppra(i — 1)@ Fppaa(i — 1)

+0.125Myppa(i — 1) F5paa(i — 1) +0.25Mypra(i — 1) Fppaa(i — 1) + 0.125Myppa(i — 1) Fppar(i — 1)
F0.25Myppa(i — 1)(1 — @ — 1) Fipaali — 1) + 0.5Myppali — 1)®Fppaa(i — 1)

F0.25Mpprali — )FpBaa(i — 1) + 0.5Mypra(i — 1)Fppan(i — 1) + 0.25Mypra(i — ) Fppar(i —1)

£ 0.25Mypan(i — D)nFppaali — 1) + 0.25Mypan(i — 1) Frprali — 1) + 0.25Mypan(i — 1) Fpoan(i — 1)
F0.5Mypan(i — 1) Fmprp(i — 1) +0.5Mupan(i — VFspaa(i — 1)+ 0.5Mypan(i — 1)Fppra(i — 1)
F05Mopan(i — 1) Fspar(i — 1) + Mypan(i — D) Fpra( — 1)+ 0.125Mpar(i — 1)(1 — ® — 1) Fapaal(i — 1)
F0.25Mypar(i — DB Frpan(i — 1) + 0.25Mypar(i — 1)Fspaa(i — 1) + 0.125Mypar(i — 1) Faora(i — 1)

£ 0.25Mypar(i — 1) Fppan(i — 1) +0.25Mypar(i — 1) Froan(i — 1)+ 0.25Mypar(i — 1) Fpprr(i — 1)

4 0.25Mypar(i — 1)1 — ® — ) Fpaali — 1) + 0.5Mypar(i — 1)®Fppaali — 1)

F0.5Mopar(i — 1)0Fspaa(i — 1) + 0.25Mopar(i — 1)Fnrali — 1) + 0.5Mypar(i — 1) Fapaai — 1)
+0.5Mypan(i — 1) Fppan(i — 1)+ 05Mypan(i — 1) Fpprnli — 1) + 0.25Mpra(i — 1)(1 —  — n) Fipaali— 1)
£ 0.5Myrr(i — D)®Fppaa(i — 1) +0.25Myprr(i — DnFppaali — 1) + 0.5Myprr(i — 1) Fppaali — 1)
+0.25Myprr(i — D) Fppan(i — 1) +0.5Mprr(i — 1)(1 — ® — ) Fppaai — 1) + Myra(i — 1)®Fppaali — 1)
+0.5Myrr(i — 1)nFBRAa(i — 1) + Myprr(i — 1) Fpaa(i — 1) + 0.5Myrr(i — 1) Fepar(i — 1)

01250 Mppaa(i — 1) Fopaa(i — 1)+ 0.125(1 — @ — ) Mppaa(i — 1) Foprali — 1)

+0.250Mppaa(i — 1) Fypra(i — 1) + 0.1250Mppaa(i — 1) Fopra(i — 1) + 0.250Mppaa(i — 1) Fopan(i — 1)
F0.125(1 —  — ) Mppaa(i — D) Eppar(i — 1) +0.250Mppaa(i — 1) Fypan(i — 1)

F0.250Mppaa(i — 1) Fypar(i — 1) +0.25(1 — ® — ) Mppaa(i — 1) Frorr(i — 1)

050 Mppaa(i — 1) Fornli — 1) +0.250Mpypaa(i — 1) Fyprn(i — 1)

+0.125nMppaa(i — 1)(1 — @ — ) Fppaa(i — 1) +0.125(1 — @ — n)Mppaa(i — 1)nFppaali — 1)

0250 Mppaa(i — D)nFspaali — 1) +0.250Mppaa(i — D)@ Fppaa(i — 1) +0.250Mppaa(i — DnFapaali — 1)
F0.125(1 — @ — ) Mppaali — 1) Frora(i — 1) + 0.250 Mppaa(i — 1) Frprali — 1)

+0.1250Mppaa(i — 1) Fyra(i — 1) + 0.250Mpoaa(i — 1) Fppan(i — 1)

F0.125(1 — ® — ) Mppaa(i — D) Fppan(i — 1) +0.250Mppaa(i — 1) Frpar(i — 1)

+0.250Mppaa(i — 1) Fpar(i — 1) +0.25(1 — ® — ) Mppaa(i — 1) Frorn(i — 1)

050 Mppaali — 1) Fryrali — 1) + 0.250Mpyaa(i — 1) Frprr(i — 1)

01250 M ppaa(i — 1)(1 — & — ) Fppaali — 1)+ 0.125(1 — & — ) Mppaa(i — DnFppaali — 1)
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4 0.250Mppaa(i — DnFppaa(i — 1) +0.250Mppaa(i — 1) Fppaa(i — 1)

40250 Mppaa(i — DFppaa(i — 1) +0.125(1 — ® — ) Mppaa(i — 1) Frprali — 1)

0250 Mppaa(i — 1) Fpprali — 1) +0.1250Mppaa(i — 1) Fpprali — 1)+ 0.250Mppaa(i — 1) Fppan(i — 1)
101251 — ® — ) Mppaali — DFppag(i — 1) + 0.250Mppaa(i — 1) Fppar(i — 1)

4 0.250Mppaa(i — D Eppar(i — 1) +0.25(1 — & — 5)Mppaa(i — 1) Fpprr(i— 1)

4050 Mppaali — 1)Frpra(i — 1) + 0.250Mpyaa(i — 1) Fprri — 1) + 0.125Mpyra(i — 1) Fypaa(i — 1)
+0.25Mppra(i — 1) Fypan(i — 1)+ 0.125Mpopa(i — 1) Fopar(i — 1)

£ 0.125Mpyra(i — 1)(1 — ® — 1) Fpaa(i — 1) + 0.25Mpoga(i — 1)®Fayaa(i — 1)

+0.125Mpora(i — 1)1F a0 — 1) +0.25Mpoga(i — 1) Fppan(i — 1) + 0.125Mpyga(i — 1) Fppar(i — 1)
F0.125Mpopal(i — 1)(1 — ® — ) Fppaali — 1)+ 0.25Mppga(i — D)®Fppa0(i — 1)

F0.125Mpopa(i — DnFppaali — 1) +0.25Mpora(i — 1) Fppan(i — 1)+ 0.125Mpypa(i — 1) Fppar(i — 1)
0.25Mpyan(i — 1) Fypra(i — 1) +0.25Mppan(i — 1) Fypar(i — 1)+ 0.5Mpyan(i — 1) Foprr(i — 1)

4 0.25Mppan(i — DnFepaa(i — 1) +0.25Mppan(i — 1) Fpora(i — 1) + 0.25Mppan(i — 1) Frpar(i — 1)

+ 0-5MBbAA('i — 1)FBbRR(i — 1) + 0o25MBbAA(i — 1)77FBBAa(i — 1) + 0~25MBbAA(i — ]-)FBBRa(i — 1)
+0.25Mppaa(i — \)Fppar(i — 1)+ 0.5Mppaa(i — 1) Fpprr(i — 1) + 0.125Mppar(i — 1) Fppaq(i — 1)
+0.125Mppan(i — 1) EFpra(i — 1) +0.25Mppar(i — 1) Fypaa(i — 1) + 0.25Mppar(i — 1) Fopan(i — 1)
+0.25Mppar(i — 1) Fyora(i — 1) +0.125Mppar(i — 1)(1 — @ — 1) Fpaa(i — 1)

F0.25Mppan(i — 1)®Fppaa(i — 1) + 0.25Mpyar(i — VFppaa(i — 1) + 0.125Mppar(i — 1) Frpra(i — 1)
0.25Mppan(i — 1) Fapan(i — 1) + 0.25Mppar(i — 1) Foar(i — 1) + 0.25Mppar(i — 1) Faorr(i — 1)
+0.125Mppan(i — 1)(1 — @ — ) Fpaai — 1) +0.25Mppar(i — 1)®Fppaa(i — 1)

4 0.25Mppan(i — DnFppaali — 1)+ 0.125Mppar(i — 1) Fpprali — 1)+ 0.25Mppar(i — D) Fppaali — 1)
F0.25Mppan(i — D) Fppar(i — 1) +0.25Mpyar(i — VFpprri — 1) +0.25Mpprp(i — 1) Fupaa(i — 1)

4 0.5Mporr(i — 1) Fupanli — 1)+ 0.25Mpyrr(i — D) Fwar(i — 1)+ 0.25Mpyrr(i — 1)(1 — & — n)Fapaali — 1)
4 0.5Mpprr(i — D)®Fppaa(i — 1) +0.25Mpyrr(i — DnFrpaali — 1) + 0.5Mporr(i — 1) Fgpaa(i — 1)
+0.25Mporr(i — D) Fppan(i — 1) +0.25Mpprr(i — 1)(1 — & — n)Fppaa(i — 1)

F0.5Mporr(i — 1)®Fppaa(i — 1) + 0.25Mpyrr(i — VnFppaa(i — 1) + 0.5Mpyrr(i — ) Fapaali — 1)
1 0.25Mpyrr(i — D) Fpar(i — 1) +0.250Mppaa(i — 1) Fypaali — 1)

10.25(1 — ® — ) Mppaa(i — 1) Fpprali — 1) + 058 Mppaa(i — 1) Fypral(i — 1)

+0.25nMppaa(i — 1) Fyppa(i — 1) + 0.50Mppaa(i — 1) Fypaa(i — 1)

£0.25(1 = ® — ) Mppaa(i — D Epar(i — 1) + 050 Mppaa(i — 1) Fypar(i — 1)

4 0.50Mppaali — DFwar(i— 1) + 051 — & — )Mppaali — D) Fwrr(i — 1) + ®Mppaa(i — 1) Fprali — 1)
4057 Mppaali — D) Fywrr(i — 1) +0.1250Mppaali — 1)(1 — ® — ) Foaa(i — 1)

+0.125(1 = @ — n)Mppaa(i — 1)nFppaa(i — 1) + 0.25@Mppaa(i — 1)nFppaal(i — 1)

£ 0.250Mppaa(i — D®Fppaali — 1)+ 0.250Mppaali — 1)1 Faoaali — 1)

+0.125(1 — @ — ) Mppaa(i — 1) Frprali — 1) + 0.250Mppaa(i — 1) Frprali — 1)

4 0.1257Mppaali — 1) Frprali — 1) + 0.250Mppaa(i — 1) Fepaali — 1)

101251 — ® — ) Mppaali — D) Fppan(i — 1) + 0.250Mppaa(i — 1) Fpan(i — 1)

4 0.250Mppaali — 1) Fapar(i — 1) +0.25(1 — ® — ) Mppaali — 1) Feorr(i — 1)

050 Mppaa(i — 1) Fporr(i — 1)+ 0.250Mppaa(i — D) Fryrr(i — 1) +0.25Mppre(i — 1) Fypaa(i — 1)
4 05Mppra(i — D) Fwanli — 1) +0.25Mppra(i — 1) Fypar(i — 1) +0.125Mppra(i — 1)(1 — ® — 1) Fpaa(i — 1
F0.125Mppra(i — VnFapaali — 1) +0.25Mppra(i — 1) Fpan(i — 1)+ 0.125Mpppra(i — 1) Fyar(i — 1)
+0.5Mppaa(i — 1)Fypra(i — 1) + 0.5Mppaa(i — 1) Fypar(i — 1) + Mppaa(i — 1) Fpprr(i — 1)

4 0.25Mppanli — DnFepaa(i — 1) +0.25Mppanli — 1) Fpora(i — 1) + 0.25Mppaali — 1) Fppar(i — 1)
£ 0.5Mppanli — 1) Fpora(i— 1) + 0.25Mppar(i — 1) Fpaali — 1) +0.25Mppar(i — 1) Foyra(i — 1)
F0.5Mppan(i— DFpan(i— 1) +05Mppan(i— D) Fpar(i — 1) +0.5Mppar(i — 1) Fyorali — 1)
+0.125Mppanr(i — 1)(1 — ® — 1) Fpaa(i — 1) +0.25Mppap(i — 1)®Fppaa(i — 1)

4 0.25Mppan(i — DnFapaa(i — 1)+ 0.125Mppar(i — 1) Fpoga(i — 1)+ 0.25Mppan(i — 1) Fppali — 1)
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MBbRR

e
MBBaa

1 0.25Mppar(i — DFppan(i—1) +0.25Mppar(i — ) EFprri — 1) + 05Mpprr(i — 1) Fpaa(i — 1)

4 Mpprr(i — DFpaa(i — 1) + 0.5Mppre(i — D) Fwar(i — 1) +0.25Mpprr(i — 1)(1 — ® — 1) Fapaa(i — 1)
F05Mpprr(i — D)®Fapaa(i — 1)+ 0.25Mpprr(i — )nFesaa(i — 1)+ 0.5Mpprr(i — 1) Fapan(i — 1)
+0.25Mpprr(i — 1) Fppar(i — 1)),

= (Qporr/2)[0.125Mypra(i — 1) Fppaa(i — 1)+ 0.125Myppa(i — 1) Froga(i — 1)

4 0.125Mpprali — 1) Frpar(i — 1) + 0.25Mypra(i — 1) Frprr(i — 1) + 0.25Myppa (i — 1)Fppaali — 1)
+0.25Mypra(i — D) Fppra(i — 1)+ 0.25Myppa(i — D Fppan(i — 1) +0.5Mypra(i — 1) Fsprr(i — 1)

£ 0.125Mypar(i — DnFapaali — 1) +0.125Mypar(i — 1) Faorali — 1) + 0.125Mypar(i — 1) Fapar(i — 1)
+0.25Mypar(i — 1) Fpora(i — 1) + 0.25Myar (i — 1)nFppaa(i — 1) + 0.25Mypar(i — 1) Fapra(i — 1)
+0.25Mppar(i — 1) Fpar(i — 1) + 0.5Mppar(i — 1) Feprr(i — 1) + 0.25Myprr(i — 1)nFppac(i — 1)
+0.25Myprr(i — 1) Fpora(i — 1) +0.25Mupr(i — 1) Frpar(i — 1) + 0.5Myprr(i — 1) Fgprr(i — 1)
+0.5Mpyrr(t — 1)nFppaa(i — 1) + 0.5Myrr(i — 1) FepRra(i — 1) + 0.5Mpyrr(i — 1) Fppar(i — 1)

4 Myrr(i — V) Fppra(i — 1) + 0.1250Mppaa(i — 1) Fypra(i — 1) + 0.1250Mppaa(i — 1) Fypar(i — 1)
F0.250Mppaa(i — 1) Eprr(i — 1)+ 0.1250Mpyaa(i — 1)1Fspaa(i — 1) +0.1250Mpyaa(i — 1) Frprali — 1)
+0.1250Mppaa(i — 1) Fpar(i — 1) + 0.25nMppaa(i — 1) Fpprr(i — 1) + 0.1250Mppaa(i — 1)nFppaa(i — 1)
4 0.125nMppaa(i — 1) Fppra(i — 1) +0.1250Mppaa(i — 1) Fppan(i — 1) + 0.250Mppaa(i — V) Fppra(i — 1)
4 0.125Mpyali — 1) Fopra(i — 1) + 0.125Mpyga(i — 1) Fypar(i — 1)+ 0.25Mppra(i — 1) Fyora(i — 1)
+0.125Mpopa(i — DFppaa(i — 1) + 0.125Mppra(i — 1) Fppra(i — 1)+ 0.125Mpypa(i — 1) Frpar(i — 1)

£ 0.25Mpyrali — 1) Frora(i — 1) + 0.125Mpyra(i — 1)0F55aa(i — 1)+ 0.125Mpyra(i — 1) Fepra(i — 1)

4 0.125Mpora(i — 1) Fppar(i — 1) + 0.25Mpyra(i — 1) Fpprr(i — 1) +0.125Mpyar(i — 1) Fypyra(i — 1)

4 0.125Mpyar(i — 1) Fpar(i — 1) + 0.25Mpyar(i — 1) Fyprr(i — 1)+ 0.125Mpyar(i — DnFapaali — 1)
F0.125Mppar(i — 1) Fpppa(i — 1)+ 0.125Mpyar(i — 1) Fppar(i — 1)+ 0.25Mpyar(i — 1) Feprp(i — 1)

4 0.125Mppar(i — DnFppaa(i — 1) + 0.125Mpyar(i — 1) Feprali — 1)+ 0.125Mppar(i — 1) Fapar(i — 1)
+0.25Mppar(i — 1) Fparr(i — 1) +0.25Mpyra(i — 1) Fura(i — 1) + 0.25Mpyrr(i — 1) Fypar(i — 1)
+0.5Mpprr(i — 1) Foprr(i — 1) + 0.25MBrrr(t — 1)nFBpaq(i — 1) + 0.25Mpyrr(i — 1) Fepra(i — 1)
F0.25Mppra(i — D) Fppanr(i — 1) + 0.5Mpyra(i — D Fporr(i — 1) +0.25Mpyrr(i — 1)1Fspaa(i — 1)

4 0.25Mporr(i — DFpprali — 1) + 0.25Mpyra(i — 1) Fepar(i — 1) + 0.5Mpyrr(i — 1) Feprr(i — 1)
+0.25nMppaa(i — 1) Fypra(i — 1) + 0.250Mppaa(i — 1) Fypar(i — 1) + 0.5nMppaa(i — 1) Fpyrr(i — 1)
01250 Mppaali — DnFpoaa(i — 1) + 0.1250Mppaa(i — 1) Faora(i — 1) + 0.1250Mppaa(i — 1) Frpar(i — 1)
£ 0.250MpBaa(i — D) Fsorr(i — 1)+ 0.25Mppra(i — 1) Fyora(i — 1) + 0.25Mpre(i — 1) Fopar(i — 1)

4 0.5MppRrali — D) Fwrr(i— 1) + 0.125Mppra(i — 1)7Fpaa(i — 1) + 0.125Mppra(i — 1) Faoga(i — 1)

4 0.125MppRali — 1) Fppar(i — 1)+ 0.25Mppra(i — 1) Fpora(i — 1) +0.25Mppar(i — 1) Fopra(i — 1)
F0.25Mppan(i — 1) Fwar(i — 1) + 0.5Mppar(i — D Epra(i — 1) +0.125Mppar(i — DnFapaa(i — 1)

£ 0.125Mppar(i — 1) Fapra(i — 1) + 0.125Mppar(i — 1) Feoar(i — 1) + 0.25Mppar(i — 1) Faorr(i — 1)
+0.5Mpprr(i — 1)Fyyra(i — 1) + 0.5Mpprr(i — 1)Fyyar(i — 1) + Mpprr(i — 1) Fyprr(i — 1)

4 0.25Mppre(i — DnFepaai — 1) +0.25Mpprr(i — 1) Feyra(i — 1) + 0.25Mpprr(i — 1) Fayar(i — 1)

4 0.5Mpsrr(i — 1) Fayrnli — 1),

= (2BBaa/2)[0-25Mppaa(i — 1) Fppaa(i — 1) + 0.125 M ppeqa(i — 1)(1 — ® — 1) Fppaa(i — 1)

+ 0.125M Bpaa(i — 1) FBora(i — 1) + 0.5MpBpaa(i — 1) Fppaa(i — 1)

+0.25MBpaa(i — 1)(1 — ® — ) Fppaa(i — 1) + 0.25MpBpaa(i — 1) Fppra(i — 1)

+0.125(1 = @ — ) MBpaa(i — 1) Fppaa(i — 1) +0.0625(1 — & — ) Mpyaa(i — 1)(1 — ® — n)Fppaa(i — 1)
+0.0625(1 — ® — 1) Mppaa(i — 1)Fppra(i — 1) +0.25(1 — & — ) Mppaa(i — 1)Fppaa(i — 1)

+0.125(1 — @ — ) Mppaa(i — 1)(1 — ® — 1) Fppaa(i — 1) + 0.125(1 — & — ) Mppaa(i — 1) Fppra(i — 1)
+0.125Mpyra(i — 1) Fpbeali — 1)+ 0.0625Mppra(i — 1)(1 — ® — 1) Frpaa(i — 1)

+0.0625M pyra(i — 1) Frpra(i — 1)+ 0.25Mppra(i — 1) Fppaa(i — 1)

+0.125Mpopa(i — 1)(1 — @ — ) Frpaa(i — 1) + 0.125Mppra(i — 1) Frpra(i — 1)

+0.5MBBaa(i — 1) FBpaa(i — 1) + 0.25Mppaa(i — 1)(1 = ® — 1) Fppaa(i — 1) + 0.25MBpaa(i — 1) Fppra(i — 1)
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+ MBBaa(i — 1)Fppaa(i — 1) + 0.5MpBpRaqe(i —1)(1 = ® —1)Fppaa(i — 1) +0.5Mppaa(i — 1) FepRra(i — 1)
10.25(1 = @ — ) Mppaali — 1) Fapaali — 1) + 0.125(1 — & — n)Mppaa(i — 1)(1 — & — ) Fepaali — 1)
+0.125(1 = @ — n)Mppaa(i — 1) Feyra(i — 1) + 0.5(1 = @ = n)Mppaa(i — 1) FBRaa(i — 1)

+0.25(1 =@ —n)Mppaa(i —1)(1 = ® —n)Fppaa(i — 1) + 0.25(1 = ® —n)Mppaa(i — 1) Fppra(i — 1)
+0.25MppRra(i — 1) Fppaa(i — 1) + 0.125Mppra(i — 1)(1 — ® — ) Fpaa(i — 1)

+0.125MppRra(i — 1) Fpyrali — 1) + 0.5Mppra(i — 1) Fppaq(i — 1)

F0.25Mppra(i — (1 — @ — ) Fpaali — 1) + 0.25Mpppra(i — 1) Fpprali — 1)),

(BpAa ‘ . . .
(BzBA> [0.125M ppaa(i — 1)(1 — ® — ) Fapaa(i — 1) 4 0.25Mppaa(i — 1)®Fppaa(i — 1)

+0.125M g (i — D)0 F5paa(i — 1) + 0.25Mppaa(i — 1) Frpan(i — 1) +0.125Mppaa(i — 1) Frpar(i — 1)
+0.25MBpaa(i — 1)(1 — ® — ) Fpaa(i — 1) + 0.5Mppaa(i — 1)®Fppaa(i — 1)

+0.25Mpoaa(i — 1)1FpAa(i — 1) +0.5Mppaa(i — ) Fppaali — 1) + 0.25Mppea(i — 1) Frpar(i — 1)
£0.125(1 — ® — ) Mppaa(i — 1) Fppaa(i — 1) + 0.250 Mppaa(i — 1) Fppaa(i — 1)

+0.125nMppaa(i — 1) Fpoaa(i — 1) +0.125(1 — @ — ) Mppaa(i — 1)(1 — @ — 1) Fppaa(i — 1)

+0.125@ Mppaa(i — 1)(1 = @ — ) Fppaa(i — 1) + 0.0625nMppaa(i — 1)(1 — @ — 1) Fppaa(i — 1)
+0.125(1 = @ — n)Mppaa(i — 1)@ Fppaq(i — 1) +0.0625(1 — @ — ) Mpyaa(i — 1)nFppaa(i — 1)
+0.0625(1 — @ — 1) Mppaa(i — 1) Fpora(i — 1) + 0.1250 Mpyaa(i — 1) Fapra(i — 1)

+0.06250M gy aa(i — 1) Fpprali — 1)+ 0.125(1 — & — ) Mppaa(i — 1) Fpan(i — 1)

+0.0625(1 — ® — ) Mppaa(i — 1) Fppar(i — 1) +0.25(1 = ® — n)Mppaa(i — 1) Fppaa(i — 1)

05D Mppaa(i — 1) Fppaali — 1) + 0.250Mppaa(i — 1) Fppaa(i — 1)

+0.25(1 = ® — ) Mppaa(i — 1)(1 = @ —n)Fppaa(i — 1) + 0.250Mppaa(i — 1)(1 — @ — ) Fppaa(i — 1)
01250 Mppaa(i — 1)(1 — ® — 1) Fppaa(i — 1) + 0.125(1 — & — ) Mppaa(i — 1)®Fppaali — 1)
+0.0625(1 — ® — 1) Mppaa(i — DnFppaali — 1) +0.125(1 — & — ) Mppaali — 1) Fpprali — 1)
+0.250Mppaa(i — 1) Fpprali — 1) + 0.1250Mppaa(i — 1) Fppra(i — 1)

+0.25(1 = ® — ) Mppaa(i — 1) Fppaali —1) +0.125(1 — & — ) Mppaa(i — 1)Fppar(i — 1)

4 0.0625M ppali — 1)(1 — ® — ) Fpaa(i — 1) + 0.125Mpyrali — 1)®Fppaa(i — 1)

+0.0625 M R0 (i — 1) F5paa(i — 1)+ 0.125Mpora(i — 1) Fyan(i — 1) + 0.0625Mgpra(i — 1) Fapar(i — 1)
+0.125Mppra(i — 1)(1 — ® — ) Fppaali — 1) +0.25Mppra(i — 1)®Fppaa(i — 1)

+0.125Mpyra(i — 1)7F55aa(i — 1) + 0.25Mpoga(i — 1) Fppanli — 1) +0.125Mppra(i — 1) Fppar(i — 1)
+0.25Mppan(i — 1) Fppaa(i — 1) + 0.125Mppan(i — 1)(1 — & — ) Frpaali — 1)

£ 0.125Mppan(i — 1) Fryra(i — 1) +0.5Mppaa(i — 1) Frpaa(i — 1)

+0.25Mppan(i — 1)1 — ® — ) Fppaa(i — 1) + 0.25Mppan(i — ) Fppra(i — 1)

+0.125Mpyar (i — 1) Fppaa(i — 1) + 0.0625Mppar (i — 1)(1 — @ — ) Fapaa(i — 1)

+0.0625Mppar(i — 1) Fryral(i — 1) +0.25Mppar(i — 1) Fppaa(i — 1)

F0.125Mppar(i — 1)(1 = ® — 1) Fppaa(i — 1) +0.125Mppar(i — 1) Frpra(i — 1)

+0.25MpBpaa(i —1)(1 = @ — ) Fppaa(i — 1) + 0.5MpBpeq(i — 1)@ Fppaa(i — 1)

+0.25MpBaali — 1)1Fbaa(i — 1) + 0.5Mppaa(i — 1) Frpan(i — 1) +0.25Mppaal(i — 1) Fppar(i — 1)
F0.5Mppaa(i — 1)1 — @ — ) Fppaali — 1) + Mppaa(i — 1)®Fppaa(i — 1)

+0.5MpBaa(i — 1)nFBaa(i — 1) + Mppaa(i — 1)Fppaa(i — 1) +0.5Mppaa(i — 1) Fppar(i — 1)
£0.25(1 — ® — ))Mppaa(i — 1) Frveali — 1) + 0.58Mppaa(i — 1) Frpaa(i — 1)

+0.25nMpBpaa(i — 1) FBbaa(i — 1) +0.25(1 = @ = n)Mppaa(i — 1)(1 = @ — n) Fppaa(i — 1)
+0.250Mppaa(i — 1)(1 = © = n)Fppaa(i — 1) + 0.125nMppaa(i — 1)(1 — ® — ) Fppaa(i — 1)
10.25(1 — @ — ) Mppaali — 1)®Fppaali — 1) +0.125(1 — @ — ) Mppaali — nFrpaali — 1)
£0.125(1 — @ — ))Mppaali — 1) Fogali — 1) + 0.250Mppaa(i — 1) Faoga(i — 1)

01250 Mppaa(i — 1) Fpra(i — 1) +0.25(1 — & — 9)Mppaa(i — 1) Fppaa(i — 1)

£0.125(1 — ® — ))Mppaa(i — V) Fppan(i—1) +0.5(1 — & — n)Mppaa(i — 1) Fppaali — 1)

+ ®Mppaa(i — 1)Fpaa(i — 1) +0.5nMppaa(i — 1)FpBaa(i — 1)
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+0.5(1 =@ —n)Mppaa(i —1)(1 = ® —n)Fppaa(i —1) + 0.58Mppau(i — 1)(1 — & — ) Fppaa(i — 1)
+0.250Mppaa(i — 1)(1 = ® —n)Fppaa(i — 1) + 0.5(1 = ® —n)Mppaa(i — 1)®Fppaa(i — 1)
+0.25(1 = @ —n)Mppaa(i — 1)nFppaa(i —1) +0.25(1 — ® —n)Mppaa(i — 1)Fppra(i — 1)
050 Mppaali — 1) Fpprali — 1) + 0.250Mppaali — 1) Fppra(i — 1)
F05(1—® — ) Mppaa(i — D) Fppanli — 1) +0.25(1 — & — 9)Mppaeli — 1) Fppan(i — 1)
F0.125MppRra(i — 1)(1 — ® — 7)Fppaa(i — 1)+ 0.25Mppra(i — 1)@ Fppaa(i — 1)
F0.125Mppra(i — DFppaa(i — 1) + 0.25Mppra(i — 1) Fppanli — 1)+ 0.125Mppra(i — 1) Frpar(i — 1)
F0.25Mppra(i — )1 —® — ) Fapaa(i — 1) + 0.5Mppra(i — )®Fspaali — 1)
+0.25MpBRa(i — D)nFppaa(i — 1) + 0.5Mppra(i — 1) Fppaa(i — 1)+ 0.25MppRa(i — 1) Fpar(i — 1)
+ 0~5MBBAA(i - l)FBbaa(i — 1) + 0~25MBBAA(i — 1)(1 — o — n)FBbAa(i — 1)
0.25Mppanli — 1) Fsyrali — 1)+ Mppaali — ) Fepaai — 1) + 0.5Mppanli — (1 — @ — n)Frpaali — 1)
4 0.5Mppan(i — 1) Fpprali — 1) + 0.25Mppar(i — 1) Fpeali — 1)
F0.125Mppar(i — (1 —® — n)Fapaa(i — 1) + 0.125Mppar(i — 1) Fpopa(i — 1)
F05Mppar(i — 1) Fppaali — 1) + 0.25Mppar(i — 1)(1 — ® — 1) Fppaali — 1)
F0.25Mppan(i — ) Fspra(i — 1)),

My = (5Ra/2)[0.125Mppa0 (i — 1) Fspa0(i — 1) + 0.125M ppaa (i — 1) Foga(i — 1)
+0.125Mpoaali — 1) Frpar(i — 1) + 0.25Mppaa(i — 1) Frprr(i — 1) + 0.25Mpyaa(i — 1)Fppaa(i — 1)
+0.25Mppaa(i — 1) Fpprali — 1) +0.25Mppea(i — 1)Frpar(i — 1) + 0.5Mppaa (i — 1) Fpprr(i — 1)
+0.1250Mppaa(i — 1) Fppaa(i — 1) 4+ 0.06250Mppaa(i — 1)(1 — © — n) Fppaa(i — 1)
£0.0625(1 — & — 1) Mppaali — 1)nFppaali — 1) + 0.0625(1 — & — 1) Mppaa(i — 1) Fpprali — 1)
+0.06250 M40 (i — 1) Fpra(i — 1) +0.0625(1 — @ — ) Mppaa(i — 1) Fpar(i — 1)
F0.125(1 — @ — ) Mppaali — D) Fppra(i — 1) + 0.250Mppaa(i — 1) Fppaa(i — 1)
+0.125nMppaa(i —1)(1 — ® — 1) Fppaa(i — 1) +0.0625(1 — ® — n)Mppaa(i — 1)nFppaa(i — 1)
+0.125(1 — @ — ) Mppaali — 1) Fapra(i — 1) + 0.1250Mppaa(i — 1) Fppra(i — 1)
+0.125(1 — @ — ) Mppaali — 1) Fppan(i — 1) +0.25(1 — & — ) Mppaali — 1) Feprali— 1)
0.125Mpyra(i — 1) Frpeali — 1)+ 0.0625Mppra(i — 1)(1 — ® — 1) Frpaa(i — 1)
£ 0.0625Mppra(i — 1)1Fmpaa(i — 1) + 0.125Mpyra(i — 1) Frora(i — 1) + 0.0625Mpyra(i — 1) Fapar(i — 1)
0.125Mppra(i — 1) Fporr(i — 1) + 0.25Mpyra(i — 1) Fpeali — 1)
F0.125Mpppali — 1)(1 — ® — ) Fppaali — 1)+ 0.125Mpypa(i — DnFppaali — 1)
F0.25Mpyrali — ) Fppra(i — 1) + 0.125Mpyga(i — 1)Fpar(i — 1) + 0.25Mpora(i — 1) Feprr(i — 1)
+0.125Mppar (i — 1) Fppaa(i — 1) + 0.0625Mppar(i — 1)(1 — & — 1) Fppaa(i — 1)
+0.0625Mppar (i — 1) Frpra(i — 1) + 0.25Mpyar(i — 1) Fpeali — 1)
F0.125Mppan(i — 1)(1 — ® — ) Fppaali — 1) + 0.125Mppan(i — 1) Fppra(i — 1)
F0.25Mpyrr(i — 1) Fapea(i — 1) + 0.125Mpora(i — 1)(1 — ® — 1) Fpaali — 1)
£ 0.125Mporn(i — 1) Fppra(i — 1) + 0.5Mpyre(i — 1) Fppaa(i — 1)
0.25Mppra(i — 1)(1 — @ — ) Fppaali — 1) + 0.25Mporr(i — 1) Fppra(i — 1)
+0.25Mpaa(i — DFapaa(i — 1) +0.25Mppeali — 1) Frprali — 1) + 0.25Mppeali — 1) Frpan(i — 1)
+0.5Mp5ea(i — DFsprali — 1) +0.5Mppaa(i — 1)nFspaa(i — 1) +0.5Mppaali — 1) Fpnrali — 1)
+0.5MBBaa(i — 1)Fppar(i — 1) + MBaa(i — 1)Feprr(i — 1) + 0.25nMppaa(i — 1) FBpaa(i — 1)
+0.125nMppaa(i —1)(1 = ® — 1) Fppaa(i — 1) + 0.125(1 — @ — ) Mppaa(i — 1)nFBpaa(i — 1)
101251 — & — ))Mppaa(i — D) Fppra(i — 1) +0.1250Mppaa(i — 1) Faprali — 1)
$0.125(1 — @ — ) Mppaali — 1) Faoar(i — 1) +0.25(1 — ® — ) Mppaali — 1) Faorr(i — 1)
+0.50Mppaa(i — 1)Fppaa(i — 1)+ 0.25nMppaa(i — 1)(1 —® — n)Fpaa(i — 1)
+0.25(1 = @ —n)Mppaa(i — 1)nFppaa(i —1) +0.25(1 = ® —n)Mppaa(i — 1) Fppra(i — 1)
0250 Mppaa(i — DFpprali — 1) +0.25(1 — ® — 9)Mppaali — 1)Fspar(i — 1)
$05(1— @ — ) Mppaali — ) Fpprr(i — 1) +0.25Mppra(i — 1) Fppaa(i — 1)
+0.125Mppra(i — 1)(1 — ® — ) Fpaa(i — 1) + 0.125Mppra(i — D)nFepaali — 1)
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+0.25Mppra(i — 1) Fpora(i — 1) + 0.125Mppra(i — 1) Fayar(i — 1) + 0.25Mppra(i — 1) Feprr(i — 1)
+0.5MpBra(i — 1)FpBaa(i — 1)+ 0.25Mppra(i — 1)(1 — ® — ) Fppaa(i — 1)

+0.25MpBRa(i — 1)1F5BAa(i — 1) + 0.5Mpra(i — 1) Fpra(i — 1) + 0.25Mppra(i — 1) Fepar(i — 1)
+0.5Mppra(i — 1) Feprr(i — 1)+ 0.25Mppar(i — 1) Fppaa(i — 1)

+0.125Mppar(i — 1)(1 — ® — ) Frpaa(i — 1) +0.125Mppar(i — 1) Faopa(i — 1)

+0.5Mppar(i — 1) Fppaa(i — 1) +0.25Mppap(i — 1)(1 — ® — ) Fppaali — 1)

+0.25Mppar(i — 1)Fepra(i — 1) + 0.5Mpprr(i — 1) Fapea(i — 1)

+0.25Mpprr(i —1)(1 = ® — n)Fppaa(i — 1) + 0.25Mpprr(i — 1) Fapra(i — 1)

+ Mpprr(i — 1)Fppea(i — 1) + 0.5Mpprr(i — 1)(1 — ® — n)Fppaq(i — 1)

+0.5Mpprr(i — 1) Fearali — 1)],

Q
= (BSAA> [0.0625(1 — ® — ) Mppaq(i —1)(1 — @ —n) + 0.1250Mppaa(i — 1)(1 — ® — 1) Fppaa(i — 1)

+0.0625nMppaa(i — 1)(1 = @ — n)Fppaa(i — 1) + 0.125(1 — @ — ) Mppaa(i — 1)@ Fppaa(i — 1)
+0.0625(1 — ® — ) Mppaa(i — 1)nFppaa(i — 1) + 0.25@Mppaa(i — 1)@ Fpraa(i — 1)

01250 Mpyaa(i — DnFppaa(i — 1) + 0.1250Mppaa(i — 1)@ Fppaa(i — 1)

+0.06250 My aa(i — D) Fspan(i — 1)+ 0.125(1 — & — 1) Mipaa(i — 1) Fpan(i — 1)

F0.250Mppaa(i — 1) Frpan(i — 1) +0.1250Mppaa(i — 1) Foaa(i — 1)

4 0.0625(1 — @ — ) Mppaa(i — 1) Fypar(i — 1) + 01250 Mppaa(i — 1) Fppan(i — 1)

+0.06250Mppaa(i — 1) Fppan(i — 1) +0.125(1 — @ — ) Mppaa(i — 1)(1 — & — ) Fppaa(i — 1)
+0.250Mppaa(i —1)(1 =P —n)Fppaa(i — 1) + 0.125nMppaa(i — 1)(1 — @ — ) Fppaa(i — 1)

01251 — @ — ) Mppaa(i — 1)Fppaa(i — 1) +0.0625(1 — & — ) Mppaa(i — 1)nFppaali — 1)

050 Mppaa(i — D)OFppaa(i — 1) +0.250Mppaa(i — V)Fppaali — 1)

+0.25nMppaa(i — 1)@Fppaa(i — 1) + 0.1250Mppaa(i — 1)nFppaa(i — 1)

£0.25(1 — @ — ) Mppaa(i — 1)Fppaali — 1) +0.56Mppaa(i — 1) Fppaali — 1)

0250 Mppaali — D Fppaali — 1) +0.125(1 — ® — ) Mpyaa(i — 1) Fppar(i — 1)

+0.250 Mppaa(i — 1) Fppar(i — 1) + 0.1250Mppaa(i — 1) Fppar(i — 1)

F0.125Mppan(i — 1)(1— @ — ) Fapaa(i — 1) + 0.25Mppan(i — 1)®Fppaali — 1)

£ 0.125Mppan(i — 1)nFppaali — 1) +0.25Mppan(i — 1) Fppan(i — 1) +0.125Mppan(i — 1) Fppar(i — 1)
0.25Mppan(i — 1)(1— @ — ) Fppaali — 1) + 0.5Mppan(i — 1)®Fppaali — 1)

F0.25Mppanli — DnFppaali — 1) +05Mppanli — 1)Fppanli — 1)+ 0.25Mppan(i — D Fppan(i— 1)

4 0.0625Mppar(i — 1)(1 — ® — 1) Fpaa(i — 1) + 0.125Mppar(i — 1)®Fgpaa(i — 1)

+0.0625Mpyar(i — 1)nFppaal(i — 1) +0.125Mppan(i — 1) Fppan(i — 1) + 0.0625Mppar(i — 1) Fppar(i — 1)
F0.125Mppan(i — 1)(1 — @ — 1) Fppaal(i — 1) + 0.25Mppar(i — 1)®Fppaa(i — 1)

F0.125Mpyar(i — DnFppaali — 1) +0.25Mpyar(i — D) Fppaa(i — 1) +0.125Mpyar(i — D Fppan(i — 1)
+0.125(1 — & — ) Mppaa(i — 1)(1 — & — ) Frpan(i — 1)+ 0.250 Mppaa(i — 1)(1 — B — 1) Frpaa(i — 1)
+0.1250Mppaa(i — 1)(1 — @ — 1) Fppaa(i — 1) Fppaa(i — 1) +0.25(1 — @ —n)Mppaa(i — 1)®Fppaa(i — 1)
40.125(1 — @ — ) Mppaali — DnFpaali — 1) + 0.50Mppaa(i — 1)®Fgpaal(i — 1)

+0.250Mppaa(i — 1)nFppaa(i — 1) +0.250Mppaa(i — 1)®Fppaa(i — 1)

01250 Mppaa(i — 1)nFppaal(i — 1) +0.25(1 — ® — ) Mppaa(i — 1) Fpanli —1)

+0.50Mppaali — 1) Fppan(i— 1) +0.250Mppaa(i — 1) Frpan(i — 1)

F0.125(1 — ® — ) Mppaa(i — D) Fppan(i — 1) + 0.250Mppaa(i — 1) Fypar(i — 1)

+0.125nMppaa(i — 1) Fppar(i — 1) + 0.25(1 = ® = n)Mppaa(i —1)(1 = ® —n)Fppaa(i — 1)
F0.50Mppaa(i —1)(1 — @ — 0)Frpaai — 1) +0.25nMppaa(i — 1)(1 — & — 1) Fppaali — 1)

+0.5(1 =@ —n)Mppaa(i — 1)®Fppaa(i — 1) +0.25(1 = ® = n)Mppaa(i — L)nFppaa(i — 1)

¥ OMppaai — DOFppaali — 1) +0.50Mppaali — VnFppaa(i — 1) + 0.50Mppaali — 1)®Fgpaali — 1)
F0.250Mppaali — DnFppaali — 1) +0.5(1 — ® — ))Mppaa(i — 1)Fpaa(i —1)

+ ®Mppaa(i —1)Fppaa(i —1) +0.5nMppaa(i — 1) Fppaa(i — 1)
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10.25(1 — ® — ))Mppaali — V)Fppar(i — 1)+ 0.50Mppaali — 1)Fspar(i — 1)

10250 Mppaali — VFppar(i — 1) +0.25Mppan(i — 1)(1 — ® — ) Fapaali — 1)

+ O~5MBBAA(i — 1)(I>FBbAa(i — 1) + 0-25MBBAA(i — 1)77FBbAa(i — 1) + O.5MBBAA(i — 1)FBbAA(i — 1)

1 0.25Mppan(i — V) Fppan(i — 1) +0.5Mppaali —1)(1 — @ — 1) Fppaali — 1)

+ Mppaa(i —1)®Fppaq(i —1) + 0.5Mppaa(i — 1)nFppaa(i — 1) + Mppaa(i — 1)Fppaa(i — 1)
F05Mppanli — 1) Fppar(i — 1)+ 0.125Mppan(i — 1)(1 — ® — 1) Fppaali — 1)

F0.25Mppan(i — 1)®Fppaa(i — 1) + 0.125Mppar(i — 1)Fspaa(i — 1) +0.25Mppar(i — 1) Frpanli — 1)
£ 0.125Mppar(i — DFppar(i — 1) +0.25Mppar(i — (1 — ® — 1) Fppaali — 1)

£ 05Mppan(i — 1)®Fppaa(i — 1) + 0.25Mppar(i — )nFppaa(i — 1) +0.5Mppar(i — 1) Fppaali — 1)
+0.25Mppar(i — ) Fspar(i— 1)),

0
— (B;“‘R) [0.06250Mppaa(i — 1)(1 — ® — 1) Fapaq(i — 1) + 0.0625(1 — ® — ) Mppaa(i — 1)nFppaq(i — 1)

01250 Mppaa(i — DnFppaa(i — 1) + 0.1250Mpyaa(i — 1)@ Fppaa(i — 1)

+0.125nMpBpaa (i — 1)nFByaa(i — 1) +0.0625(1 — ® — ) Mppaa(i — 1) Fpyra(i — 1)

01250 Mppaa(i — 1) Fpppali — 1) + 0.06250Mppaa(i — 1) Fpora(i — 1)+ 0.1250Mpyaa(i — 1) Frpan(i — 1)
£0.0625(1 — @ — ) Mppaali — 1) Frpar(i — 1) + 01250 Mpyaa(i — 1) Fyar(i — 1)

+0.1250Mppaa(i — 1) Fapar(i — 1) + 0.125(1 — & — ) Mppaa(i — 1) Fpprr(i — 1)

+0.250 Mppaa(i — 1) Fpora(i — 1) + 0.125nMppaa(i — 1) Fpora(i — 1)

+0.1259Mppaa(i — 1)(1 =@ —n)Fppaa(i — 1) + 0.0625(1 — & — n) Mppaa(i — 1)nFppaa(i — 1)

0250 Mppaa(i — D)nFppaali — 1)+ 0.250Mppaa(i — )PFgpaali — 1) + 0.250Mppaa(i — 1)nFppaa(i — 1)
+0.125(1 — @ — ) Mppaali — 1) Fppra(i — 1) + 0.250 Mppaa(i — 1) Fppra(i — 1)

01250 Mppaa(i — 1) Fpprali — 1) + 0.250Mppaa(i — 1)Frpanli — 1)

101251 — & — ) Mppaa(i — DFppan(i — 1) + 0.250Mppaa(i — 1) Fppar(i — 1)

+0.250Mppaa(i — 1) Fppan(i— 1) +0.25(1 — ® — 5)Mppaali — 1) Fprr(i — 1)

058 Mppan(i — 1) Fpprr(i — 1)+ 0.250Mpyaa(i — 1) Fppra(i — 1)

+0.0625M poali — 1)(1 — ® — ) Fpaal(i — 1) + 0.125Mpyra(i — D Fppaa(i — 1)

4 0.0625M gy a (i — 1) Fpaa(i — 1) + 0.125Mpyra(i — 1) Fpan(i — 1) + 0.0625Mgyra(i — 1) Fapan(i — 1)
£ 0.125Mppga(i —1)(1 — @ — ) Frpaa(i — 1) + 0.25Mppra(i — 1)®Fppaa(i — 1)

F0.125Mporal(i — 1)Fspaa(i — 1) + 0.25Mppral(i — 1) Fppanli — 1) + 0.125Mpyra(i — 1) Fppar(i — 1)
F0.125Mpoan(i — DpFppaali — 1) + 0.125Mppan(i — 1) Fppra(i — 1) + 0.125Mppaa(i — 1) Frpan(i — 1)
F0.25Mppan(i — D) Fpora(i — 1) +0.25Mppan(i — V)0Fspae(i — 1) +0.25Mppan(i — 1) Fppra(i — 1)
£0.25Mppan(i — DEFppan(i—1) +0.5Mppan(i — D) Fpprali —1)

4 0.0625Mppar(i — 1)(1 —  — ) Fapaali — 1) + 0.125Mppar(i — 1)®Fapaa(i — 1)

F0.125Mpoar(i — D)nFapaali — 1) + 0.0625Mppar(i — 1) Fppra(i — 1) +0.125Mppar(i — 1) Fgpaali — 1)
+0.125Mpyag(i — 1) Fppar(i — 1) + 0.125Mppar(i — 1) Fpoga(i — 1)

£ 0.125Mppan(i — 1)(1 — & — 1) Fppaa(i — 1) +0.25Mppar(i — D)®Fppaa(i — 1)

0.25Mppan(i — DnFppaai — 1)+ 0.125Mppar(i — 1) Fppra(i — 1)+ 0.25Mppan(i — 1) Fppaali — 1)
+0.25Mppar(i — ) Fppar(i — 1) + 0.25Mpyar(i — 1) Feprr(i — 1)

£ 0.125Mpora(i — 1)(1 — ® — 1) Fpaa(i — 1) +0.25Mpprn(i — 1)®Fppaa(i — 1)

+0.125Mporr(i — DnFppaa(i — 1) + 0.25Mporr(i — 1) Fppan(i — 1) +0.125Mpppr(i — 1) Fppan(i — 1)
+0.25Mppra(i — 1)(1 — @ — ) Fppaali — 1) + 0.5Mppra(i — 1)®Fppaali — 1)

4 0.25Mpora(i — )nFepaa(i — 1) +0.5Mpyrr(i — 1) Fepanli — 1)+ 0.25Mpyra(i — 1) Fepar(i — 1)
+0.1250Mppaali — 1)(1 — ® — 1) Fpaa(i — 1) +0.125(1 — & — ) Mppaali — 1)nFppaali — 1)

0250 Mppaa(i — 1)0Fppaali — 1) +0.250Mppaa(i — D@ Fppaa(i — 1) +0.250Mppaali — 1)nFepaali — 1)
F0.125(1 —  — ) Mppaa(i — ) Fppra(i — 1) +0.250Mppaali — 1) Frpra(i — 1)

£ 0.1250Mppaa(i — 1) Frprali — 1) +0.250Mppaa(i — 1) Frpan(i — 1)

£0.125(1 — ® — D) Mppaa(i — 1) Fppar(i — 1) +0.250 Mppaa(i — 1) Fapan(i — 1)
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+0.250Mppaa(i — V) Fpypar(i — 1) +0.25(1 — & — n)Mppaa(i — 1) Fporr(i — 1)

+0.50Mppaali — 1) Fporr(i — 1) +0.250Mppaa(i — 1) Fayrp(i — 1)

+0.25nMppaa(i —1)(1 = @ —n)Fppaa(i — 1) +0.25(1 — ® —n)Mppaa(i — 1)nFppaa(i — 1)
F0.5PMppaa(i — DnFppaali — 1)+ 0.50Mppaa(i — 1)®Fppaali — 1) + 0.50Mppaa(i — 1)1Fppa(i — 1)
+0.25(1 — ® — ) Mppaa(i — 1) Fppra(i — 1) + 0.58Mppaa(i — 1) Fpra(i — 1)

+0.25nMpBpaa(i —1)Fppra(i — 1) + 0.5nMppaa(i — 1)Fppaa(i — 1)

$0.25(1— @ — ))Mppaai — V) EFppar(i — 1) +0.50Mppaali — 1) Fppan(i — 1)

F0.50Mppaa(i — V) Fppan(i— 1) +0.5(1 — @ — ))Mppaali — 1) Fpprali — 1)

+ ®Mppaa(i —1)Fpprr(i —1) + 0.5nMppaa(i — 1) Fpprr(i — 1)

+0.125MppRa(i — 1)(1 — ® — ) Fpaa(i — 1) + 0.25Mppra(i — 1)®Fppaa(i — 1)

F0.125MpBRa(i — 1)nFppaali — 1) + 0.25Mppra(i — 1) Frpan(i — 1) + 0.125Mppra(i — 1) Fepar(i — 1)
£ 0.25Mpgrali — 1)1 —® — 1) Fppaa(i — 1) +0.5Mppra(i — )®Fppiali — 1)

4 0.25MppRrali — VnFppaa(i —1) +0.5Mpprali — VFppaali — 1) +0.25Mppra(i — V) Fppar(i —1)
+0.25Mppanli — D)nFepaali — 1) +0.25Mppan(i — 1) EFppra(i — 1) +0.25Mppan(i — 1) Fppar(i — 1)
F0.5Mppan(i— DFrr(i — 1) +05Mppan(i — DnFppaali — 1) +05Mppaa(i — ) Fpprali — 1)
+0.5Mppaa(i—1)Fppar(i —1) + Mppaa(i — 1)Fpprr(i — 1)

+0.125Mppar(i — 1)1 — ® — ) Fppaal(i — 1)+ 0.25Mppar(i — 1)®Fppaa(i — 1)

+0.25Mppar(i — D)nFepaali — 1) +0.125Mppar(i — 1) Fpora(i — 1) + 0.25Mppar(i — 1) Fppaa(i — 1)
+0.25Mppar(i — 1) Fepar(i — 1) +0.25Mppar(i — 1) Fayrr(i — 1)

+0.25Mppan(i — 1)(1 — ® — ) Fapaali — 1) + 0.5Mppan(i — )®Fppaali — 1)

£ 05Mppar(i — )0Fppaa(i — 1) +0.25Mppar(i — 1) Fppra(i — 1) +0.5Mppar(i — 1)Fepaali —1)
+0.5Mppar(i — 1) Fppan(i—1) +0.5Mppar(i — 1) Fpprr(i — 1)

£0.25Mpprr(i — 1)(1 — ® — ) Fapaali — 1) + 0.5Mppre(i — 1) Fgpaq(i — 1)

+0.25Mpprr(i — )nFaoac(i — 1) + 0.5Mpprr(i — 1) Fepani — 1) + 0.25Mpprr(i — 1) Faoar(i — 1)
4 05Mpprr(i— 1)(1 — & — ) Fppaali — 1) + Mpprr(i — )®Fapaa(i — 1)

£ 05Mppre(i — )0Fspaa(i — 1) + Mpprr(i — D)Fpaa(i —1) +05Mpprr(i — D) Fpar(i — 1),

M§prn = (’3;"33> [0.0625nM gy a0 (i — 1)nFspaa(i — 1) + 0.06250Mppaa(i — 1) Fpora(i — 1)

+0.06250Mppaq(i — 1) Fpoar(i — 1) + 0.125nMppaq(i — 1) Fpprr(i — 1)

+0.125nMppaq(i — 1)nFppaq(i — 1) + 0.125nMppaa(i — 1) Fepra(i — 1)

+0.125nMppaq(i — 1) Fppar(i — 1) + 0.250Mppae(i — 1) Fprr(i — 1) + 0.0625Mpyra(i — 1)nFppaq(i — 1)
+0.0625M gy ra(i — 1) Frora(i — 1) + 0.0625Mpgpra(i — 1) Fppar(i — 1) 4+ 0.125Mpyra(i — 1) Feorr(i — 1)
+0.125Mppra(i — 1)nFspaa(i — 1) + 0.125Mpoga(i — 1) Fppra(i — 1) + 0.125Mpyre(i — 1) Fepar(i — 1)
+0.25Mpyra(i — 1) Fpprr(i — 1) + 0.0625Mpyar(i — 1)nFapaa(i — 1) + 0.0625M gy ar(i — 1) Fppga(i — 1)
+0.0625Mppar(i — 1) Fpar(i — 1) +0.125Mppar(i — 1) Feorr(i — 1) +0.125Mpgpar(i — )nFppaa(i — 1)
+0.125Mppar(i — 1) Fppra(i — 1) + 0.125Mpyar(i — 1) Fpar(i — 1) +0.25Mpyar(i — 1) Feprr(i — 1)
+0.125Mporr(i — 1)nFppaq(i — 1) +0.125Mpyrr(i — 1) Faoga(i — 1) + 0.125Mpyrr(i — 1) Fepar(i — 1)
+0.25Mporr(i — 1) Foorp(i — 1) + 0.25Mporr(i — 1)nFspaq(i — 1) +0.25Mpyrr(i — 1) Fepra(i — 1)
+0.25Mporr(i — 1) Fspar(i — 1) +0.5Mporr(i — DFsprr(i — 1) + 0.1250Mppaa(i — 1)nFspaa(i — 1)
+0.125nMppaa(i — 1) Fapra(i — 1) + 0.1250Mppaa(i — 1) Feoar(i — 1) + 0.250Mppae(i — 1) Feorr(i — 1)
+0.250Mppaa(i — )nFppaa(i — 1) + 0.250Mppaa(i — 1) Fepra(i — 1) + 0.25nMppaa(i — 1) Fepar(i — 1)
+0.50Mppae(i — DFsprr(i — 1) + 0.125Mppra(i — 1)nFppaa(i — 1) + 0.125Mppra(i — 1) Fapra(i — 1)
+0.125MppRrali — D) Foar(i — 1) +0.25Mppra(i — 1) Fporr(i — 1) + 0.25Mppra(i — 1)nFapaa(i — 1)
+0.25MpBRra(i — 1) FaRa(i — 1) +0.25MpBR.(i — 1) F33AR(>I — 1) + 0.5MB8R.(i — 1) F38RR (1 — 1)
+0.125Mppar(i — 1)nFppaa(i — 1) +0.125Mppar(i — 1) Fapra(i — 1) + 0.125Mppar(i — 1) Fppar(i — 1)
+0.25Mppar(i — 1) Feorr(i — 1)+ 0.25Mppar(i — )nFppaa(i — 1) + 0.25Mppar(i — 1) Fepra(i — 1)
+0.25Mppar(i — 1) Fppar(i — 1) + 0.5Mppar(i — 1) Feprr(i — 1) + 0.25Mpprr(i — 1)nFpaa(i — 1)
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+0.25Mpprr(i — 1)Fppra(i — 1) + 0.25Mpprr(i — 1) Fepar(i — 1) + 0.5Mpprr(i — 1) Fyrr(i — 1)
+ O~5MBBRR(i — 1)77FBBAa(i — 1) + 0~5MBBRR(i — 1)FBBRa(i — 1) + O-BMBBRR(i — 1)FBBAR(Z. — 1)
+ Mpprr(i — 1)Fpprr(i — 1)],

and a matching set of equations for females of each genotype.

The second stage is to normalise these proportional frequencies to fill the range from zero to one. We

begin by calculating the overall fitness of the entire population by summing the proportional genotype
frequencies resulting from the above equations to give:

Q= Mpoo + Mgaq + Mypra + Mypan + Mypar + Mgyrr + MBpaa + MEyaa + MBora
+ Mppaa+ Mppar + Miyrr + MEpaa + MEpaa + MEpra + Mppaa + Mgpar + Mgprr
+ Fypaa T Fovaa + Foora + Fovaa + Fypar + Frorr + Fhbaa + Fhvaa T FBbRa
+ Fpoaa + Fooar + Foorr + FBBaa T FBA0 + FBBRa + FBBAA + FBBAR + FBBRR-
This is used as a normalising factor to give the final genotype frequencies for a particular generation as

Miypaa(i) = Mpa /S Mipaa(i) = Mipa,  Mipra(i) = Miypa/Q,  Mypan(i) = Mgpaa/9,

Mypar(i) = Myar/Q  Muwrr(i) = Mipr/Q, Mppad(i) = MBpa./Q,  Mpyaa(i) = Mpya,/Q,

Mpyra(i) = Miypa/Q  Mpyaa(i) = Mpyaa/Q,  Mppar(i) = Mpyap/Q  Mprr(i) = Mi,rr/9Q,
MpBaa(i) = MEpa./Q  Mppaa(i) = Mjpaa/Q Mpra(i) = Mipr,/Q, Mppaa(i) = Mipaa/Q,
Mppar(i) = Mgpar/Q  Mpprr(i) = Miprr/Q  Fiaa(i) = Fpea/Q Fivaa(i) = Fyaa/<
Fopra() = Fyppa/Q  Fovaa(i) = Faa/Q  Fuar() = Fyap/Q Furr(i) = Fypr/Q,
FBbaa(i) = Fhpaa/  FBoaa(i) = Fipaa/Q  Fpora(i) = Fipra/Q  Fpraa(i) = Fipaa/Q,
Fpyar(i) = Fiar/Q  Fporr(i) = Faypr/Q  FBBaa(i) = Fipea/Q  Fepad(i) = Fipal/Q,
FppRra(i) = FJGBBRa/Qv Fppaal(i) = FE’BAA/Q Fppar(i) = FE’BAR/Qa Fgprr(i) = FE’BRR/Q'

We then insert these values into the proportional genotype frequency equations to calculate the values for
the next generation and so on until the desired end point is reached.
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